
MATHS

BOOKS - OBJECTIVE RD SHARMA MATHS VOL I (HINGLISH)

INDEFINITE INTEGRALS

Illustration

1. If  then 

A. 

B. 

C. 

D. 

Answer: A

h id l i

∫ dx = a sin 2x + C
sin8

x − cos8 x

1 − 2 sin2 x cos2 x
a =

−
1

2

1

2

−1

1

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_Vc8rrKnGoGrB


Watch Video Solution

2. If ,then a=

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

dx = a cos 8x + C
1 + cos 8x

tan 2x − cot 2x

−
1

16

1

8

1

16

−
1

8

3.  is equal to

A. 

B. 

C. 

∫ dx
sinx + cos x

sin(x − α)

(cosα − sinα)(x − α) + (cosα + sinα)log|sin(x − a)| + C

(cosα + sinα)(x − α) + (cosα + sinα)log|sin(x − a)| + C

(cosα + sinα)(x + α) + (cosα + sinα)log|sin(x + a)| + C

https://dl.doubtnut.com/l/_Vc8rrKnGoGrB
https://dl.doubtnut.com/l/_Gt6vEv2s4fM6
https://dl.doubtnut.com/l/_pr7EQGCnE3ol


D. none of these

Answer: A

Watch Video Solution

4. If , then the value of

(A,B) , is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫ dx = Ax + B log sin(x − α) + C
sinx

sin(x − α)

( − cosα, sinα)

(cosα, sinα)

( − sinα, cosα)

(sinα, cosα)

https://dl.doubtnut.com/l/_pr7EQGCnE3ol
https://dl.doubtnut.com/l/_il1dgtgF55zz


5. Evaluate: 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫  dx
1

sin(x − a)sin(x − b)

log
∣
∣
∣

∣
∣
∣

+ C
1

sin(a − b)

sin(x − a)

sin(x − b)

− log
∣
∣
∣

∣
∣
∣

+ C
1

sin(a − b)

sin(x − a)

sin(x − b)

log sin(x − a)sin(x − b) + C

log
∣
∣
∣

∣
∣
∣

+ C
sin(x − a)

sin(x − b)

6. The value of  , is

A. 

B. 

C. 

D. 

√2∫ dx
sinx

sin(x − )π
4

x + log∣
∣sin(x − )∣

∣ + C
π

4

x − log∣
∣cos(x − )∣

∣ + C
π

4

x + log∣
∣cos(x − )∣

∣ + C
π

4

x − log∣
∣sin(x − )∣

∣ + C
π

4

https://dl.doubtnut.com/l/_iETEj6eOE28e
https://dl.doubtnut.com/l/_dVbkh2Xs3rjY


Answer: A

Watch Video Solution

7. If , then

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

∫ dx = A cot x + B sin 2x + x + D
cos4 x

sin2 x

C

2

A = − 2, B = 1/4

B = − 1/4, C = − 3

B = 1/4, C = − 3

8. If ,then I equals

A. 

I = ∫ dx
cos 2x − cos 2α

sina − sinα

2 sinx − x cosα + C

https://dl.doubtnut.com/l/_dVbkh2Xs3rjY
https://dl.doubtnut.com/l/_i9hRcIfQdX9K
https://dl.doubtnut.com/l/_8bMzcQ6soBdL


B. 

C. 

D. 

Answer: B

Watch Video Solution

2 cos x − 2x sinα + C

2 cos x + 2 sinα + C

2 sinx + x cosα + C

9.  is equal to

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

∫tanx tan 2x tan 3xdx

log|sec 3x| − log|sec 2x| + log|secx| + C
1

3

1

2

log|sec 3x| − log|sec 2x| − log|secx| + C
1

3

1

2

log|sec 3x| + log|sec 2x| + log|secx| + C
1

3

1

2

https://dl.doubtnut.com/l/_8bMzcQ6soBdL
https://dl.doubtnut.com/l/_7v0KHQ4TcvHA
https://dl.doubtnut.com/l/_kWv0wg0aXMwn


10.  Constant , then f (x) is equal to

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫ex(1 + x)sec2(xex)dx = f(x) +

cos(xex)

sin(xex)

2 tan− 1 x

tan(xex)

11. Evaluate: 

A. 

B. 

C. 

D. none of these

∫e3 logx(x4 + 1)
− 1

 dx

log(x4 + 1) + C

log(x4 + 1) + C
1

4

−log(x4 + 1) + C

https://dl.doubtnut.com/l/_kWv0wg0aXMwn
https://dl.doubtnut.com/l/_WMghuIaNkSVV


Answer: B

Watch Video Solution

12. The primitive of the function 

, is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

f(x) = (1 − )ax+ x, > 0
1

x2

1
x

ax
+ 1

x

loge a

ax+ loge a
1
x

loge a
ax+ 1

x

x

ax+ 1
x

loge a

13.  is equal to∫ dx
2

(ex + e−x)2

https://dl.doubtnut.com/l/_WMghuIaNkSVV
https://dl.doubtnut.com/l/_24yDRW8qCLKe
https://dl.doubtnut.com/l/_DfOqCqdyujBl


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

+ C
−e−x

ex + e−x

− + C
1

ex + e−x

− + C
1

(ex + 1)2

+ C
1

ex − e−x

14. If , then a=

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫ dx = a21 /x + C
21 /x

x2

−log2 e

−loge 2

−1

1/2

https://dl.doubtnut.com/l/_DfOqCqdyujBl
https://dl.doubtnut.com/l/_tGZMEWuarYgG


15.  is equalto

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫x2ex
3
cos(ex

3
)dx

sin(ex
3
) + C

3 sin(ex
3
) + C

sin(ex
3
) + C

1

3

ex sin(ex
3
) + C

16.  is equal to

A. 

B. 

C. 

∫sinxd(cos x)

sin 2x − x + C
1

2

( sin 2x − x) + C
1

2

1

2

( + x) + C
1

2

sin 2x

2

https://dl.doubtnut.com/l/_tGZMEWuarYgG
https://dl.doubtnut.com/l/_xsk8vhsHDLyM
https://dl.doubtnut.com/l/_dFo5kcr4UZ33


D. none of these

Answer: B

Watch Video Solution

17. The value of  , is

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

∫(x + )
3 / 2

( )dx
1

x

x2 − 1

x2

(x + )
3 / 2

+ C
2

3

1

x

(x + )
5 / 2

+ C
2

5

1

x

2(x + )
1 / 2

+ C
1

x

18. ∫3√ dx
sinn x

cosn+ 6 x

https://dl.doubtnut.com/l/_dFo5kcr4UZ33
https://dl.doubtnut.com/l/_xJiwbnu3Mnca
https://dl.doubtnut.com/l/_82cPXfqoEn18


A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

tann/ 3 + 1 x + C
3

n + 3

tann/ 3 + 1 x + C
3

n + 3

tann/ 3 + 1 x + C
3

n + 1

19. The value of  , is

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

∫ dx
1

x2(x4 + 1)3 / 4

(1 + )
1 / 41

x4

−(1 + )
1 / 41

x4

− (1 + )
1 / 41

4

1

x4

https://dl.doubtnut.com/l/_82cPXfqoEn18
https://dl.doubtnut.com/l/_RDdju46T1oqh


Watch Video Solution

20. If ,then a=

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫ dx = a(1 + )
3 / 2

+ C
√5 + x10

x16

5

x10

−
1

25

1

75

−
1

75

−
1

150

21. If  then f(x) is equal to

A. 

B. 

C. 

∫ dx = f(x) + C,
ex − 1
ex + 1

2 log(ex + 1) + C

log(e2x − 1) + C

2 log(ex + 1) − x + C

https://dl.doubtnut.com/l/_RDdju46T1oqh
https://dl.doubtnut.com/l/_5MrIYWb9WByW
https://dl.doubtnut.com/l/_nq8H8fEoMjhH


D. 

Answer: C

Watch Video Solution

log(e2x + 1) + C

22. The value of 

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

∫ dx  is 
1 + logx

√(xx)
2

− 1

sec− 1(xx) + C

log∣
∣x

x + √x2x − 1∣
∣ + C

log∣
∣x

x − √x2x − 1∣
∣ + C

23.  is equal toI = ∫ dx
1

(a2 − b2x2)
3 / 2

https://dl.doubtnut.com/l/_nq8H8fEoMjhH
https://dl.doubtnut.com/l/_D8oSO3cMoxDF
https://dl.doubtnut.com/l/_RC9gb7TuLWF7


A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

+ C
x

√a2 − b2x2

+ C
x

a2√a2 − b2x2

+ C
ax

√a2 − b2x2

24.  is equal to

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

∫ dx
(tan− 1 x)

3

1 + x2

3(tan− 1 x)
2

+ C

+ C
(tan− 1 x)

4

4

(tan− 1 x)
4

+ C

https://dl.doubtnut.com/l/_RC9gb7TuLWF7
https://dl.doubtnut.com/l/_b0RTWxJr6Wgg


Watch Video Solution

25. Let .  , where C

is a constant of integration , then the ordered pair ( a , b) is equal to

A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

In = ∫tann xdx, n > 1 I4 + I6 = a tan5 x + bx5 + C

( , − 1)
1

5

( − , 0)
1

5

( − , 1)
1

5

( , 0)
1

5

26. If  , then 

A. 1

B. 0

∫sin5 x cos4 xdx = A cos9 x + B cos7 x + C cos5 x + D

9A + 7B + 5C =

https://dl.doubtnut.com/l/_b0RTWxJr6Wgg
https://dl.doubtnut.com/l/_gded7ZyfHn7o
https://dl.doubtnut.com/l/_NwKGHsyJujjW


C. 

D. none of these

Answer: B

Watch Video Solution

−1

27. If , then

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫cos7 xdx = A sin7 x + B sin5 x + C sin3 x + sinx + k

A = , B = , C = − 1
1

7

3

5

A = − , B = , C = − 1
1

7

3

5

A = , B = , C = − 1
−1

7

1

5

A = , B = , C = 1
1

7

3

5

https://dl.doubtnut.com/l/_NwKGHsyJujjW
https://dl.doubtnut.com/l/_RxsVmZ1uOEnE


28. If  , then

A. 7a = 5b

B. 5a = 7b

C. 7a + 5b = 0

D. 5a + 7b = 0

Answer: A

Watch Video Solution

∫ dx = a tan7 x + b tan5 x + C
sin4 x

cos8 x

29. If  then

A. 

B. 

C. 

D. none of these

∫ = a√cot x + b√tan3 x + c,
dx

√sin3 x cos5 x

+ (tanx)3 / 2 + C
−2

√tanx

2

3

(tanx)3 / 2 + C
2

√tanx

2

3

+ (tanx)1 / 3 + C
−2

√tanx

2

3

https://dl.doubtnut.com/l/_KubKV47vYR7b
https://dl.doubtnut.com/l/_bndKzC08lc3O


Answer: A

Watch Video Solution

30. If , then 5a

+b=

A. 3

B. 

C. 0

D. 

Answer: C

Watch Video Solution

∫sec4 / 3 ccosec8 / 3xdx = a(tanx) − 5 / 3 + b(tanx)1 / 3 + C

−3

−1

31. The value of  , is∫ dx
sinx + cos x

3 + sin 2x

https://dl.doubtnut.com/l/_bndKzC08lc3O
https://dl.doubtnut.com/l/_QOSoMRDrGegi
https://dl.doubtnut.com/l/_Cawss7lsRevb


A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

log( ) + C
1

4

2 + sinx − cos x

2 − sinx + cos x

log( ) + C
1

2

2 + sinx

2 − sinx

log( ) + C
1

4

1 + sinx

1 − sinx

32. If , then

A. m = n

B. m =-n

C. 

D. 

Answer: C

Watch Video Solution

∫√ dx = m sin− 1 ( )
n

+ C
x

a3 − x3

x

a

m = 1/n

m = − 1/n

https://dl.doubtnut.com/l/_Cawss7lsRevb
https://dl.doubtnut.com/l/_UfxS321xmXhi


33. If ,then g (x)=

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

∫√ dx = g(x) + C
x4

a6 + x6

log∣
∣x

3 − √a6 + x6∣
∣

1

3

log∣
∣x

3 + √a6 + x6∣
∣

log∣
∣x

3 + √a6 + x6∣
∣

1

3

34. If  , then f (x)=

A. 

B. 

C. 

∫ dx = f(x) + C
1

x2 + 2x + 2

tan− 1(x + 1)

2 tan− 1(x + 1)

−tan− 1(x + 1)

https://dl.doubtnut.com/l/_UfxS321xmXhi
https://dl.doubtnut.com/l/_TgMJ1BmOEGWF
https://dl.doubtnut.com/l/_KYoiJ1T6qFId


D. 

Answer: A

Watch Video Solution

3 tan− 1(x + 1)

35. What is  equal to?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
dx

x(x7 + 1)

log( ) + C
x7

x7 + 1

log( ) + C
1

7

x7

x7 + 1

log( ) + C
x7 + 1

x7

log( ) + C
1

7

x7 + 1

x7

36.  is equal to∫ dx
1

x2 + 4x + 13

https://dl.doubtnut.com/l/_KYoiJ1T6qFId
https://dl.doubtnut.com/l/_VXE5341mwUVF
https://dl.doubtnut.com/l/_0S5mT51oLW37


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

log(x2 + 4x + 13) + C

tan− 1( )
1

3

x + 2

3

log(2x + 4) + C

+ C
2x + 4

(x2 + 4x + 13)3

37. If  , then

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫ dx = fog(x) + C
1

√2ax − x2

f(x) = sin− 1 x, and g(x) =
x + a

a

f(x) = sin− 1 x, and g(x) =
x − a

a

f(x) = cos − 1 x, and g(x) =
x − a

a

f(x) = tan− 1 x and g(x) =
x − a

a

https://dl.doubtnut.com/l/_0S5mT51oLW37
https://dl.doubtnut.com/l/_zgafmDzAjqbP


38. Evaluate .

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

∫(√tanx + √cot x)dx

sin− 1(sinx − cos c) + C

√2 sin− 1(sinx − cos x) + C

√2 cos − 1(sinx − cos x) + C

39. If , then

A. a = b

B. a + b =4

C. a = 2b

∫ dx = a log|x + 1| + b log|x + 2| + C
4x + 1

x2 + 3x + 2

https://dl.doubtnut.com/l/_zgafmDzAjqbP
https://dl.doubtnut.com/l/_xjcs0d1zNhhz
https://dl.doubtnut.com/l/_Oxii2FmACH1X


D. b = 2a

Answer: B

Watch Video Solution

40. The value of , is

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

∫ dx
1

x + √x − 1

log(x + √x − 1) + sin− 1 √ + C
x − 1

x

log(x + √x − 1) + C

log(x + √x − 1) − tan− 1( ) + C
2

3

2√x − 1 + 1

√3

https://dl.doubtnut.com/l/_Oxii2FmACH1X
https://dl.doubtnut.com/l/_6jNeGBXsfb5C


41. If , then the value

of ab , is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫ dx = tan− 1(3 tanx) + C
1

a2 sin2 x + b2 cos2 x

1

12

41

12

39

36

42.  is equal to

A. 

B. 

C. 

∫ dx
1

1 + 3 sin2 x

tan− 1(3 tan2 x) + C
1

3

tan− 1(2 tanx) + C
1

2

tan− 1(tanx) + C

https://dl.doubtnut.com/l/_72xxSmtzYzdD
https://dl.doubtnut.com/l/_aXfghgRcVpQd


D. none of these

Answer: B

Watch Video Solution

43. 

A. .

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫ dx =
1

7 + 5 cos x

tan− 1( tan ) + C
1

√6

1

√6

x

2

tan− 1( tan ) + C
1

√3

1

√3

x

2

tan− 1( ) + C
1

4
x

2

tan− 1(tan ) + C
1

7

x

2

44.  dx equals∫
1

cos x + √3 sinx

https://dl.doubtnut.com/l/_aXfghgRcVpQd
https://dl.doubtnut.com/l/_L8Cm7MeZi2IU
https://dl.doubtnut.com/l/_J2oC8POTwRdM


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

log tan( + ) + C
π

2

π

12

log tan( − ) + C
x

2

π

12

log tan( + ) + C
1

2
x

2

π

12

log tan( − ) + C
1

2
x

2

π

12

45.  is equal to

A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

∫ dx
1

cos x − sinx

log
∣
∣
∣
tan( − )

∣
∣
∣

+ C
1

√2

x

2

3π

8

log∣
∣cot ∣

∣ + C
1

√2

x

2

log ∣ tan( − ) + C
1

√2

x

2

π

8

log
∣
∣
∣
tan( + )

∣
∣
∣

+ C
1

√2

x

2

3π

8

https://dl.doubtnut.com/l/_J2oC8POTwRdM
https://dl.doubtnut.com/l/_FoxfJGRgMCj3


46.  equals

A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

∫ dx
1

sinx + cos x + √2

− tan( + ) + C
1

√2

x

2

π

8

tan( + )
1

√2

x

2

π

8

cot( + )
1

√2

x

2

π

8

− cot( + )
1

√2

x

2

π

8

47. , then (a ,b)

A. 

B. 

C. 

∫ dx = ax + b log|3 cos x + 2 sinx| + C
3 sinx + 2 cos x

3 cos x + 2 sinx

a = , b = −
5

13

12

13

a = , b = −
12

13

5

13

a = , b =
12

13

5

13

https://dl.doubtnut.com/l/_FoxfJGRgMCj3
https://dl.doubtnut.com/l/_CSq42XyTgL6l
https://dl.doubtnut.com/l/_c6RHpLRWHYRu


D. 

Answer: B

Watch Video Solution

a = , b =
−12

5

−5

13

48. 

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

∫ dx =
sinx + 8 cos x

4 sinx + 6 cos x

x + log|4 sinx + 6 cos x| + C
1

2

2x + log|2 sinx + 3 cos x| + C

x + 2 log|2 sinx + 3 cos x| + C

log|4 sinx + 6 cos x| + C
1

2

49. ∫tan− 1 √ dx =
1 − x

1 + x

https://dl.doubtnut.com/l/_c6RHpLRWHYRu
https://dl.doubtnut.com/l/_RYkSijar7rFs
https://dl.doubtnut.com/l/_em9EPIHr4o0f


A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

(x cos − 1 x − √1 − x2) + C
1

2

(x cos − 1 x − √1 + x2) + C
1

2

(x cos − 1 x − √1 − x2) + C
1

2

(x cos − 1 x − √1 + x2) + C
1

2

50.  is equal to

A. 

B. 

C. 

D. none of these

Answer: b

Watch Video Solution

∫ dx
x2

(x sinx + cos x)
2

+ C
sinx + x cos x

x sinx + cos x

+ C
sinx − x cos x

x sinx + cos x

+ C
sinx − x cos x

x sinx − cos x

https://dl.doubtnut.com/l/_em9EPIHr4o0f
https://dl.doubtnut.com/l/_0hs37vlPsTCS


51.  is equal to

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

∫{sin(loge x) + cos(loge x)}dx

sin(loge x) + cos(loge x) + C

x sin(loge x) + C

x cos(loge x) + C

52. , then

A. 

B. 

C. 

∫{log(logx) + }dx = x{f(x) − g(x)} + C
1

(logx)2

f(x) = log(logx), g(x) =
1

logx

f(x) = logx, g(x) =
1

logx

f(x) = , (x) = log(logx)
1

logx

https://dl.doubtnut.com/l/_0hs37vlPsTCS
https://dl.doubtnut.com/l/_0BYow2vwIiZd
https://dl.doubtnut.com/l/_Rks3KNgafTx4


D. 

Answer: A

Watch Video Solution

f(x) = , g(x) =
1

x logx

1

logx

53.  is equal to

A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

∫etan − 1 x(1 + )dx
x

1 + x2

xetan − 1 x + C
1

2

etan − 1 x + C
1

2

xetan − 1 x + C

etan − 1 x + C

54.  is equal to∫e−x(1 − tanx)secxdx

https://dl.doubtnut.com/l/_Rks3KNgafTx4
https://dl.doubtnut.com/l/_AtqW1jJa41bi
https://dl.doubtnut.com/l/_UkQzqs1yeLsz


A. 

B. 

C. 

D. none of these

Answer: D

Watch Video Solution

e−x secx + C

e−x tanx + C

−e−x tanx + C

55.  is equal to

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫(x + 1)2
exdx

xex + C

x2ex + C

(x + 1)ex + C

(x2 + 1)ex + C

https://dl.doubtnut.com/l/_UkQzqs1yeLsz
https://dl.doubtnut.com/l/_0TvgVVyxb1pD


56. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫ex(1 − cot x + cot2 x)dx =

ex cot x + C

−ex cot x + C

excosec x + C

−excosec x + C

57.  dx is equal to

A. 

B. 

C. 

∫{ }

2
logx − 1

1 + (logx)
2

+ C
x

(logx)
2

+ 1

+ C
xex

1 + x2

+ C
x

1 + x2

https://dl.doubtnut.com/l/_0TvgVVyxb1pD
https://dl.doubtnut.com/l/_8vevGyRPW74Q
https://dl.doubtnut.com/l/_kN3r3DQWeb5j


D. 

Answer: A

Watch Video Solution

+ C
logx

(logx)2 + 1

58. If  Constant, then f(x) is equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫ex( )dx = f(x) +
1 − sinx

1 − cos x

ex cot( ) + C
x

2

e−x cot( ) + C
x

2

−ex cot( ) + C
x

2

−e−x cot( ) + C
x

2

https://dl.doubtnut.com/l/_kN3r3DQWeb5j
https://dl.doubtnut.com/l/_2gz6ixXCaOFs


59. If

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

u = ∫eax sin  bx  dx and v = ∫eax cos  bx   dx then (u2 + v2)(a2 + b2)

2eax

e2ax

2e2ax

bxeax

60. If ,then 

 equals

A. bx

B. 2 bx

C. 

u = ∫eax sin  bx  dx and v = ∫
eax

cos  bx  dx

tan− 1( ) + tan− 1( )
u

v

b

a

b2x2

https://dl.doubtnut.com/l/_RqzcFCxoqPZD
https://dl.doubtnut.com/l/_9SE0MCwKTssY


D. 

Answer: a

Watch Video Solution

√bx

61. If  then 
 (i) 
 (ii)

(iii) 
(iv) 

A. 4

B. 

C. 2

D. 

Answer: b

Watch Video Solution

∫ dx = tan− 1( ) + c
x2 + 4

x4 + 16

1

k

x2 − 4

kx
k = √2 4√2

2√2 2

2√2

√2

https://dl.doubtnut.com/l/_9SE0MCwKTssY
https://dl.doubtnut.com/l/_zaBR84XcuLo9


62. Evaluate:


A. 

B. 

C. 

D. none of these

Answer: c

Watch Video Solution

∫ dx
1

cos6 x + sin6 x

tan− 1(tanx + cot x) + C

tan− 1(cot x − tanx) + C

tan− 1(tanx − cot x) + C

63. If  Then for an

arbitrary constant c, the value of  equal to

A. 

B. 

C. 

I = ∫ dx. J = ∫ dx.
ex

e4x + e2e + 1

e−x

e− 4x + e− 2x + 1

J − I

log( ) + C
1

2
e4x − e2x + 1

e4x + e2x + 1

log( ) + C
1

2
e2x + ex + 1

e2x − ex + 1

log( ) + C
1

2
e2x + ex + 1

e2x + ex + 1

https://dl.doubtnut.com/l/_7pvisW3qyu6q
https://dl.doubtnut.com/l/_KFF33vIy2qHg


Solved Example

D. 

Answer: c

Watch Video Solution

log( ) + C
1

2
e2x + e2x + 1

e2x + e2x + 1

1.  is equal to

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

∫ dx
1 + x4

(1 − x4)3 / 2

+ C
1

√x2 − 1
x2

+ C
1

√ − x21
x2

+ C
1

√ + x21
x2

https://dl.doubtnut.com/l/_KFF33vIy2qHg
https://dl.doubtnut.com/l/_wQC9nXhOkht2


2.  is equal to

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

∫ d(x2 + 1)
1

√x2 + 2

2√x2 + 2 + C

2√x2 + 2 + C

+ C
1

(x2 + 2)3 / 2

3. Integration of f (x)  with respect to , is

A. 

B. 

C. 

D. none of these

= √1 + x2 x2

+ C
2

3

(1 + x2)
3 / 2

x

(1 + x2)
3 / 2

+ C
2

3

(1 + x2)
3 / 2

+ C
2x

3

https://dl.doubtnut.com/l/_wQC9nXhOkht2
https://dl.doubtnut.com/l/_dPHL9LTZtT6y
https://dl.doubtnut.com/l/_XiaqNNlv2TwF


Answer: B

Watch Video Solution

4. dx is equal to

A. 

B. 

C. 

D. none of these

Answer: a

Watch Video Solution

∫
1

x√1 − x3

log
∣
∣
∣

∣
∣
∣

+ C
1

3

√1 − x3 − 1

√1 − x3 + 1

log
∣
∣
∣

− 1
∣
∣
∣

+ C
1

2

√1 − x2 + 1

√1 − x2

log
∣
∣
∣

∣
∣
∣

+ C
1

3

1

√1 − x3

5. If  , then P equals

A. 1

∫ dx = P√cot x + Q
√cot x

sinx cos x

https://dl.doubtnut.com/l/_XiaqNNlv2TwF
https://dl.doubtnut.com/l/_XRzczlHK1XvO
https://dl.doubtnut.com/l/_nahP8QZ7mGLX


B. 2

C. 

D. 

Answer: D

Watch Video Solution

−1

−2

6. If , then  f(x)dx is equal to

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

f( ) = x + 2
3x − 4

3x + 4
∫

ex+ 2 loge
∣
∣
∣

∣
∣
∣

3x − 4

3x + 4

− loge|1 − x| + x + C
8

3

2

3

loge|x − 1| + + C
8

3
x

3

https://dl.doubtnut.com/l/_nahP8QZ7mGLX
https://dl.doubtnut.com/l/_X4JzEyhAibqo
https://dl.doubtnut.com/l/_o8edAsZAdruc


7. dx is equal to

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

∫xx(1 + loge x)

xx loge x + C

exx + C

xx + C

8. The value of  is

A. 

B. 

C. 

D. none of these

∫
dx

x (1 + x )
1
5

4
5

1
2

√1 + x4 / 5 + C

√1 + x4 / 5 + C
5

2

x4 / 5√1 + x4 / 5 + C

https://dl.doubtnut.com/l/_o8edAsZAdruc
https://dl.doubtnut.com/l/_HSZc10mX4m9f


Answer: b

Watch Video Solution

9. Evaluate:


A. 

B. 

C. 

D. none of these

Answer: a

Watch Video Solution

∫ dx
x

5
2

√1 + x7

log∣
∣x

7 / 2 + √1 + x7∣
∣ + C

2

7

log
∣
∣
∣

∣
∣
∣

+ C
1

2
x7 + 1

x7 − 1

2√1 + x7 + C

10. 

A. 

∫777x

⋅ 77x ⋅ 7x dx =

+ C
777x

(loge 7)
3

https://dl.doubtnut.com/l/_HSZc10mX4m9f
https://dl.doubtnut.com/l/_cuUq9etUPwV3
https://dl.doubtnut.com/l/_sShGTqLNEcAt


B. 

C. 

D. none of these

Answer: A

Watch Video Solution

+ C
777x

(loge 7)2

777x

. (log 7)3 + C

11. The value of  , is

A. 

B. 

C. 

D. none of these

Answer: b

Watch Video Solution

∫ dx
1

sin(x − )cos xπ

3

2 log|sinx + sin ⋅ (x − π/3)| + C

2 log∣
∣secx sin(x − )∣

∣ + C
π

3

2 log∣
∣sinx − sin(x − )∣

∣ + C
π

3

https://dl.doubtnut.com/l/_sShGTqLNEcAt
https://dl.doubtnut.com/l/_xV5V9vzy2XcE


12. The value of  is

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

∫ dx
loge(x + √x2 + 1)

√x2 + 1

2 loge(x + √x2 + 1) + C

{loge(x + √x2 + 1)}
2

+ C

log(x + √x2 + 1) + C

13. The value of  , is

A. 

B. 

C. 

D. 

∫ dx
√1 + x

x

2√1 + x + log
∣
∣
∣

∣
∣
∣

+ C
√1 + x

√1 + x + 1

2√1 + x + C

loge
∣
∣
∣

∣
∣
∣

+ C
√1 + x − 1

√1 + x + 1

+ C
√1 + x − 1

√1 + x + 1

https://dl.doubtnut.com/l/_KiyF9JcQgSno
https://dl.doubtnut.com/l/_j9f8IlV03Cor


Answer: a

Watch Video Solution

14. If , then k= (A)  (B)  (C) 

(D) none of these

A. 

B. 

C. 

D. none of these

Answer: b

Watch Video Solution

∫ dx = k cos 4x + c
cos 4x + 1

cot x − tanx
−

1

4
−

1

2
−

1

8

A = , B ∈ R
1

8

A = − , B ∈ R
1

8

A = , B ∈ R
1

4

15. The value of  is∫ dx
x7

(1 − x2)5

https://dl.doubtnut.com/l/_j9f8IlV03Cor
https://dl.doubtnut.com/l/_oc58X4CE7gke
https://dl.doubtnut.com/l/_BXlDxTuvN7dZ


A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

+ C
x8

(1 − x2)4

+ C
1

8

x8

(1 − x2)
4

+ C
1

8
x4

(1 − x2)4

16. If ,then f (x)=

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

∫f(x)sinx cos xdx = log|f(x)| + C
1

2(a2 − b2)

1

a2 sin2 x + b2 cos2 x

1

a2 sin2 x − b2 cos2 x

1

a2 sin2 x + b2 sin2 x

1

a2 cos2 x − b2 sin2 x

https://dl.doubtnut.com/l/_BXlDxTuvN7dZ
https://dl.doubtnut.com/l/_K35ierJd3VHn


17. The value of  is equal to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
dx

xn(1 + xn)
1
n

{1 + }
1 −

+ C
1

1 − n

1

xn

1
n

{1 − }
1 −

+ C
1

1 + n

1

xn

1
n

− {1 − }
1 −

+ C
1

1 − n

1

xn

1
n

− {1 + }
1 −

+ C
1

1 + n

1

xn

1
n

18. If  then a =

A. 2

B. 3

C. 4

∫ dx = sin− 1( ) + C
cos x − sinx

√8 − sin 2x

sinx + cos x

a

https://dl.doubtnut.com/l/_K35ierJd3VHn
https://dl.doubtnut.com/l/_EMn8qBgL9at5
https://dl.doubtnut.com/l/_Vllpw9OOISVW


D. none of these

Answer: B

Watch Video Solution

19. The value of  is

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

∫(3x2tan − xsec2 )dx
1

x

1

x

x3  tan + C
1

x

x2  tan + C
1

x

x  tan + C
1

x

https://dl.doubtnut.com/l/_Vllpw9OOISVW
https://dl.doubtnut.com/l/_XM1jIFCbbAwP


20. If  

 , then

A. 

B. 

C. L = 1

D. 

Answer: d

Watch Video Solution

∫x log(1 + )dx
1

x

= f(x). loge(x + 1) + g(x)loge x
2xLx + C

f(x) =
x2

2

g(x) = loge x

L =
1

2

21.  equals to

A. 

B. 

C. 

∫ dx
e (x

2 + 4Inx ) − x3ex
2

x − 1

( )ex
2

+ C
e3Inx − eInx

2x

+ C
(x − 1)xex

2

2

ex
2

+ C
(x2 − 1)

2x

https://dl.doubtnut.com/l/_F6ueJDyNJIrU
https://dl.doubtnut.com/l/_UdnZZCA0kH9Q


D. none of these

Answer: d

Watch Video Solution

22. The value of the integral  , is

A. 

B. 

C. 

D. none of these

Answer: a

Watch Video Solution

∫ dx
xsinx2esecx2

cos2 x2

esecx2

+ C
1

2

esin x2

+ C
1

2

sinx2ecos2 x2

+ C
1

2

23.  equals∫ dx
1

(x − 1)√x2 − 1

https://dl.doubtnut.com/l/_UdnZZCA0kH9Q
https://dl.doubtnut.com/l/_ByOWL6BfBvJZ
https://dl.doubtnut.com/l/_W4VQr3l3bXt7


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

−√ + C
x − 1

x + 1

√ + C
x − 1

x + 1

√ + C
x + 1

x − 1

−√ + C
x + 1

x − 1

24.  is equal to

A. 

B. 0

C. does not exist

D. none of these

Answer: c

Watch Video Solution

∫√x − 3{sin− 1(Inx) + cos − 1(Inx)}dx

(x − 3)3 / 2 + C
π

3

https://dl.doubtnut.com/l/_W4VQr3l3bXt7
https://dl.doubtnut.com/l/_TRbUirMP0qg4


25. The value of  is equal to

A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

∫ dx
1 − x7

x(1 + x7)

a = 1, b =
2

7

a = − 1, b =
2

7

a = 1, b = −
2

7

a = − 1, b = −
2

7

26. Evaluate:


A. 

B. 

C. 

sin3 xdx

(cos4 x + 3 cos2 x + 1)tan− 1(secx + cos x)

tan− 1(secx + cos x) + C

loge∣∣tan− 1(secx + cos x)∣∣ + C

+ C
1

(secx + cos x)2

https://dl.doubtnut.com/l/_TRbUirMP0qg4
https://dl.doubtnut.com/l/_F4L01l8yAf3X
https://dl.doubtnut.com/l/_rxvbDj8KRVUo


D. none of these

Answer: b

Watch Video Solution

27. 

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

∫ dx
(x − x5)

1
5

x6

( − 1)
6 / 5

+ C
5

24

1

x4

(1 − )
6 / 5

+ C
5

24

1

x4

− (1 − )
6 / 5

+ C
5

24

1

x4

28.  is equal to∫ dx
tanx

√sin4 x + cos4 x

https://dl.doubtnut.com/l/_rxvbDj8KRVUo
https://dl.doubtnut.com/l/_5vkdYUF9Zl2a
https://dl.doubtnut.com/l/_PsjTzwIzzZds


A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

loge(tan2 x + √1 + tan4 x) + C

loge(tan2 x + √1 + tan4 x) + C
1

2

log(tan2 x + √1 + tan4 x) + C
1

4

29. If  then find

A and B.

A. 

B. 

C. 

D. none of these

Answer: B

∫  √  dx = − 2(A tan9 / 2 x + B tan5 / 2 x) + C,
cos3 x

sin11 x

A = , B = −
1

9

1

5

A = , B =
1

9

1

5

A = − , B =
1

9

1

5

https://dl.doubtnut.com/l/_PsjTzwIzzZds
https://dl.doubtnut.com/l/_qlLG31QhlTLG


Watch Video Solution

30. 

A. 

B. 

C. 

D. none of these

Answer: b

Watch Video Solution

∫   {logg(x) − logf(x)} dx
f(x) ⋅ g ′ (x) − f ′ (x)g(x)

f(x) ⋅ g(x)

loge{ } + C
g(x)

f(x)

{loge }
2

+ C
1

2

g(x)

f(x)

loge + C
g(x)

f(x)

g(x)

f(x)

31. 

A. 

B. 

∫   {logg(x) − logf(x)} dx
f(x) ⋅ g ′ (x) − f ′ (x)g(x)

f(x) ⋅ g(x)

f(x)g(x)log{f(x)g(x)} + C

[log{f(x)g(x)}]
2

+ C
1

2

https://dl.doubtnut.com/l/_qlLG31QhlTLG
https://dl.doubtnut.com/l/_6VLYIVUMC1lC
https://dl.doubtnut.com/l/_7aMaRWx1s9l0


C. 

D. 

Answer: b

Watch Video Solution

[log{f(x)g(x)}]2 + C

log{f(x)g(x)} + C

32.  is equal to

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

∫(xx)x(2x loge x + x)dx

x(xx) + C

(xx) + C

xx. loge x + C

https://dl.doubtnut.com/l/_7aMaRWx1s9l0
https://dl.doubtnut.com/l/_3yrv3YrcQnpq


33. Let the equation of a curve passing through the point (0,1) be given b

. If the equation of the curve is written in the form 

, then f(y) is

A. 

B. 

C. 

D. none of these

Answer: b

Watch Video Solution

y = ∫x2ex
3
dx

x = f(y)

√loge(3y − 2)

3√loge(3y − 2)

3√loge(2 − 3y)

34. Evaluate:


A. 

B. 

∫ dx
1

sin4 x + cos4 x

tan− 1( ) + C
1

√2

tan 2x

√2

tan− 1( ) + C
1

√2

1 + cos 2x

√2

https://dl.doubtnut.com/l/_OwVjxyp99FU2
https://dl.doubtnut.com/l/_JJYtnZCnsvC1


C. 

D. 

Answer: A

Watch Video Solution

tan− 1( ) + C
1

√2

tanx + cot x

√2

√2 tan− 1( ) + C
√tanx + √cotx

√2

35. 

A. 

B. 

C. 

D. none of these

Answer: a

Watch Video Solution

∫ dx
secx

√sin(2x + α) + sinα

√secα(tanx + tanα) + C

√2 secα(tanx − tanα) + C

√2 secα(tanα − tanα) + C

https://dl.doubtnut.com/l/_JJYtnZCnsvC1
https://dl.doubtnut.com/l/_VvOzJdpFJJ38


36. Let . then,  is equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫ex{f(x) − f' (x)}dx = ϕ(x) ∫exf(x)dx

ϕ(x) + exf(x)

ϕ(x) − exf(x)

{ϕ(x) − exf' (x)}
1

2

{ϕ(x) + exf' (x)}
1

2

37. If
  ,then evaluate 

A. 

B. 

C. 

D. none of these

∫ dx = f(x) + c
1

x + x5
∫ dx.

x4

x + x5

logx − f(x) + C

f(x) + logx + C

f(x) − logx + C

https://dl.doubtnut.com/l/_KrqLuebEjwg5
https://dl.doubtnut.com/l/_BMZoVtjaey6f


Answer: A

Watch Video Solution

38. If  then  is equal to :

A. 

B. 

C. 

D. none of these

Answer: b

Watch Video Solution

∫f(x)dx = F (x), ∫x3f(x2)dx

[x2{F (x)}2 − ∫{F (x)}2
dx]

1

2

[x2F(x2) − ∫F(x2)d(x2)]
1

2

[x2F (x) − ∫{F (x)}2
dx]

1

2

1

2

39. If n is a positive odd integer, then 

A. 

∫ |xn|dx =

∣
∣
∣

∣
∣
∣

+ C
xn+ 1

n + 1

https://dl.doubtnut.com/l/_BMZoVtjaey6f
https://dl.doubtnut.com/l/_wNTKgDOb1syC
https://dl.doubtnut.com/l/_vhXeelOLcUkx


B. 

C. 

D. none of these

Answer: c

Watch Video Solution

+ C
xn+ 1

n + 1

+ C
|xn|

n + 1

40. If  , then f'' (x)=

A. 29 f (x)

B. 

C. 25 f(x)

D. 

Answer: d

Watch Video Solution

∫eax cos bxdx = f(x) + C
e2x

29

−29f(x)

−25f(x)

https://dl.doubtnut.com/l/_vhXeelOLcUkx
https://dl.doubtnut.com/l/_PU56vC0UWYCd
https://dl.doubtnut.com/l/_3sa2ls8ugaiS


41.  is equal to

A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

∫ dx
sin4 x

sin4 x + cos4 x

{x + log
∣
∣
∣

∣
∣
∣
} + C

1

2

1

2√2

√2 + sin 2x

√2 − sin 2x

{x + log
∣
∣
∣

∣
∣
∣
} + C

1

2

1

2√2

1 + sin 2x

1 − sin 2x

{x + log
∣
∣
∣

∣
∣
∣
} + C

1

2

1

2√2

√2 + sin 2x

√2 − sin 2x

{x + log
∣
∣
∣

∣
∣
∣
} + C

1

2

1

2√2

1 + √2 sin 2x

1 − √2 sin 2x

42. If  , then f (x) is

A. 

B. 

C. 

D. 

∫f(x)dx = 2{f(x)}3 + C

x

2

x3

1

√x

√
x

3

https://dl.doubtnut.com/l/_3sa2ls8ugaiS
https://dl.doubtnut.com/l/_2DRSQdAvVpGw


Answer: d

Watch Video Solution

43. Let g (x) be a differentiable function satisfying

 , then  is equal

to

A. 

B. 

C. 

D. none of these

Answer: b

Watch Video Solution

{g(x)} = g(x) and g(0) = 1
d

dx
g(x)( )dx

2 − sin 2x

1 − cos 2x

g(x)cot x + C

−g(x)cot x + C

+ C
g(x)

1 − cos 2x

https://dl.doubtnut.com/l/_2DRSQdAvVpGw
https://dl.doubtnut.com/l/_lyEc8eUbQ8KY


44. If , then the value of the integral

 is

A. f (x) g(x) +C

B. 

C. 

D. 

Answer: b

Watch Video Solution

∫g(x)dx = g(x)

∫f(x)g(x){f(x) + 2f' (x)}dx

{f(x)}2
g(x) + C

{f(x) − f' (x)}g(x) + C

{f(x)}2
g(x) + C

45. If , then

A. 

B. 

C. 

∫ dx = tanx + A tan− 1{f(x)} + C
1

1 − sin4 x

1

2

A = and f(x) = √2 tanx
1

2√2

A = √2 and f(x) = √2 tanx

A = − √2 and f(x) = √2 tanx

https://dl.doubtnut.com/l/_Qo6b5fMtxLfV
https://dl.doubtnut.com/l/_CfsJD621SEv2


D. none of these

Answer: A

Watch Video Solution

46.  is equal to

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

∫sin 2x loge cos xdx

( + loge cos x)cos2 x + C
1

2

cos2 x. loge cos x + C

( + loge cos x)cos2 x + C
1

2

https://dl.doubtnut.com/l/_CfsJD621SEv2
https://dl.doubtnut.com/l/_2AbSpXXspy5C


47. Let f(x) be a polynomial of degree three 

Also, 0 is a stationary point of  If f(x) does not have an extremum at 

 then the value of integral  is

A. 

B. x+C

C. 

D. nome of these

Answer: b

Watch Video Solution

f(0) = − 1 and f(1) = 0.

f(x).

x = 0, ∫ dx,
f(x)

x3 − 1

+ C
x2

2

+ C
x3

6

48. is equal to

A. 

B. 

∫ dx
1

x(1 + 3√x)
2

3{log( ) + } + C
x1 / 3

1 + x1 / 3

1

1 + 3√x

3{log( ) + } + C
x1 / 3

1 + x1 / 3

1

1 + x1 / 3

https://dl.doubtnut.com/l/_TTKaeRrquKEA
https://dl.doubtnut.com/l/_hJSgn6G9odTa


C. 

D. none of these

Answer: a

Watch Video Solution

3{log( ) − } + C
x1 / 3

1 + x1 / 3

1

1 + x1 / 3

49. Let  and  then  is

A. 

B. 

C. 

D. none of these

Answer: b

Watch Video Solution

f(x) = ∫ dx
x2

(1 + x2)(1 + √1 + x2)
f(0) = 0 f(1)

loge(1 + √2)

loge(1 + √2) −
π

4

loge(1 + √2) +
π

4

https://dl.doubtnut.com/l/_hJSgn6G9odTa
https://dl.doubtnut.com/l/_mcqlm8S2YXmh


50. Let  be a polynomial satisfying f(0)=2 ,  and 

 then f(4) equals

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

f(x) f' (0) = 3

f' ' (x) = f(x)

5(e8 + 1)

2e4

5(e8 − 1)

2e4

2e4

5(e8 − 1)

2e4

5(e8 + 1)

51. If  , then

A + B = ?

A. A+B=0

B. A - B = 0

C. AB =1

∫ dx = A loge(x + 1) + B loge(x − 2) + C
1

(x + 1)(x − 2)

https://dl.doubtnut.com/l/_FPeL8alJBeb0
https://dl.doubtnut.com/l/_Rl7lklrJufVU


D. AB =-1

Answer: A

Watch Video Solution

52.  is equal to

A. 

B. 

C. 

D. none of these

Answer: a

Watch Video Solution

∫ dx
x4 + 1

x6 + 1

tan− 1 x + tan− 1 x3 + C
1

3

tan− 1 x − tan− 1 x3 + C
1

3

−tan− 1 x − tan− 1 x3 + C
1

3

53. dx is equal to∫
x2 − 1

x√x4 + 3x2 + 1

https://dl.doubtnut.com/l/_Rl7lklrJufVU
https://dl.doubtnut.com/l/_djV4HxyQDYDc
https://dl.doubtnut.com/l/_o0rDUY9ZMRSv


A. 

B. 

C. 

D. none of these

Answer: a

Watch Video Solution

loge
∣
∣
∣
x + + √x2 + + 3

∣
∣
∣

+ C
1

x

1

x2

loge
∣
∣
∣
x − + √x2 + − 3

∣
∣
∣

+ C
1

x

1

x2

loge
∣
∣x + √x2 + 3∣

∣ + C

54.  is equal to

A. 

B. 

C. 

D. none of these

Answer: b

W t h Vid S l ti

∫ dx
1 − x2

(1 + x2)√1 + x4

√2 sin− 1{ } + C
√2x

x2 + 1

sin− 1{ }
1

√2

√2x

x2 + 1

sin− 1{ } + C
1

2

√2x ⋅

x2 + 1

https://dl.doubtnut.com/l/_o0rDUY9ZMRSv
https://dl.doubtnut.com/l/_z8jNwO7BBm4a


Watch Video Solution

55. If  , then I=

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

I = ∫ dx
sin 2x

(3 + 4 cos x)
3

+ C
3 cos x + 8

(3 + 4 cos x)
2

+ C
3 + 8 cos x

16(3 + 4 cos x)2

+ C
3 + cos x

(3 + 4 cos x)2

+ C
3 − 8 cos x

16(3 + 4 cos x)2

56.  is equal to

A. 

B. 

∫ dx

{x + √x2 + 1}

√x2 + 1

{x + √x2 + 1}
n

+ C

{x + √x2 + 1}
n

+ C
1

n

https://dl.doubtnut.com/l/_z8jNwO7BBm4a
https://dl.doubtnut.com/l/_CU6OUtS7LHx4
https://dl.doubtnut.com/l/_uJx5BlnWKKT2


C. 

D. none of these

Answer: b

Watch Video Solution

{x + √x2 + 1}
n+ 1

+ C
1

n + 1

57. If  then  is equal to

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

∫f(x)dx = f(x), ∫{f(x)}2
dx

{f(x)}21

2

{f(x)}3

|f(x)|
3

3

{f(x)}
2

https://dl.doubtnut.com/l/_uJx5BlnWKKT2
https://dl.doubtnut.com/l/_lE2iJhYuN37P


58. Evaluate 

A. 

B. 

C. 

D. none of these

Answer: a

Watch Video Solution

∫ (2 + 2 sin 2x)dx
cos x − sinx

cos x + sinx

sin 2x + C

cos 2x + C

tan 2x + C

59.  is equal to

A. 

B. 

C. 

D. none of these

∫
dx

(2x − 7)√x2 − 7x + 12

2 sec− 1(2x − 7) + C

sec− 1(2x − 7) + C

sec− 1(2x − 7) + C
1

2

https://dl.doubtnut.com/l/_Lx3vhYVZ1BwN
https://dl.doubtnut.com/l/_GKbQB6k52U1c


Answer: b

Watch Video Solution

60. The value of  is equal to

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

∫x logx(logx − 1)dx

2(x logx − x)2 + C

(x logx − x)2 + C
1

2

(x logx)2 + C

(x logx)3 + C
1

2

61. 

A. 

∫(1 + x − x− 1)ex+x− 1
dx =

(x + 1)ex+x− 1
+ C

https://dl.doubtnut.com/l/_GKbQB6k52U1c
https://dl.doubtnut.com/l/_xuTD4fqFSctx
https://dl.doubtnut.com/l/_JpeyrcfMaPLU


B. 

C. 

D. 

Answer: D

Watch Video Solution

(x − 1)ex+x− 1
+ C

−xex+x− 1
+ C

xex+x− 1
+ C

62. If  then 

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

In = ∫(lnx)ndx In + nIn− 1

(x logx)n

x(logx)n

n(logx)n

(logx)n− 1

https://dl.doubtnut.com/l/_JpeyrcfMaPLU
https://dl.doubtnut.com/l/_16CkU4ZvUmXd
https://dl.doubtnut.com/l/_151Re6q99k1M


63. The value of  , is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫ dx
sin2 x cos2 x

(sin3 x + cos3 x)
2

1

3(1 + tan3 x)

−
1

3(1 + tan3 x)

1

1 + tan3 x

−
1

1 + tan3 x

64. The integral 
 equals (for some arbitrary

constant 


∫ dx
sec2 x

(secx + tanx)
9
2

K). − { − (secx + tanx)
2} + K

1

(secx + tanx)
11
2

1

11

1

7

{ − (secx + tanx)2} + K
1

(secx + tanx)
1
11

1

11

1

7

− { + (secx + tanx)
2} + K

1

(secx + tanx)
11
2

1
11

1

7

{ + (secx + tanx)
2} + K

1

(secx + tanx)
11
2

1

11

1

7

https://dl.doubtnut.com/l/_151Re6q99k1M
https://dl.doubtnut.com/l/_g8PAHzziWete


A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

− { − (secx + tanx)2} + K
1

(secx + tanx)11 / 2

1

11

1

7

{ − (secx + tanx)2} + K
1

(secx + tanx)11 / 2

1

11

1

7

− { − (secx + tanx)2} + K
1

(secx + tanx)
11 / 2

1

11

1

7

{ − (secx + tanx)
2} + K

1

(secx + tanx)
11 / 2

1
11

1

7

65. If 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

f(x) = ∫ sex2xdx and f(0) = 0thenf(1) =
x2 + sin2 x

1 + x2

1 −
π

4

π

4

tan 1 +
π

4

tan 1 + 1

https://dl.doubtnut.com/l/_g8PAHzziWete
https://dl.doubtnut.com/l/_zz9giQ5ABa2z


Watch Video Solution

66. At present, a firm is manufacturing 2000 items. It
is estimated that the

rate of change of production P w.r.t. additional number
 of workers x is

given by 
 If the firm
 employs 25 more workers, then

the new level of production of items is
(1) 3000 (2)
3500
(3) 4500
(4) 2500

A. 2500

B. 3000

C. 3500

D. 4500

Answer: c

Watch Video Solution

= 100 − 12√x.
dP

dx

67. If , then 

A. 

∫f(x)dx = ψ(x) ∫x5f(x3)dx

x3{x3ϕ(x3) − ∫x2ϕ(x3)dx} + C
1

3

https://dl.doubtnut.com/l/_zz9giQ5ABa2z
https://dl.doubtnut.com/l/_8Ml4i1eomxcd
https://dl.doubtnut.com/l/_1e7xazzWv4tg


B. 

C. 

D. 

Answer: c

Watch Video Solution

x3ϕ(x3) − 3∫x3ϕ(x3)dx + C
1

3

x3ϕ(x3) − ∫x2ϕ(x3)dx + C
1

3

{x3ϕ(x3) − ∫x3ϕ(x3)dx} + C
1

3

68. The integral  is equal to

A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

∫(1 + x − )ex+ dx
1

x

1
x

(x + 1)ex+ + C
1
x

−xex+ + C
1
x

(x − 1)ex+ + C
1
x

xex+ + C
1
x

https://dl.doubtnut.com/l/_1e7xazzWv4tg
https://dl.doubtnut.com/l/_rBkeBalbIRaP
https://dl.doubtnut.com/l/_Fq8tRLI5rrhd


69. if  then 

A. 

B. 

C. 

D. cot x

Answer: d

Watch Video Solution

∫ dx = + c
1 − 5 sin2 x

cos5 x sin2
x

f(x)

cos5 x
f(x)

−cot x

−cosec x

cosec x

70. 

A. 

B. 

C. 

D. 

∫(x7m + x2m + xm)(2x6m + 7xm + 14) dx
1
m

+ C
(7x7m + 2x2m + 14xm)

m+ 1
m

14(m + 1)

+ C
(2x7m + 14x2m + 7xm)

m+ 1
m

14(m + 1)

+ C
(2x7m + 7x2m + 14xm)

m+ 1
m

14(m + 1)

+ C
(7x7m + 2x2m + xm)

m+ 1
m

14(m + 1)

https://dl.doubtnut.com/l/_Fq8tRLI5rrhd
https://dl.doubtnut.com/l/_AYycuKoBHJo6


Answer: c

Watch Video Solution

71.  is equal to

A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

∫ dx
x

√1 + x2 + √(1 + x2)3

In(1 + √1 + x2) + C
1

2

+ C
−2

3(1 + √1 + x2)
3 / 2

2(1 + √1 + x2) + C

2√1 + √1 + x2 + C

72.  is equal to∫√x − 3(sin− 1(Inx) + cos − 1(Inx))dx

https://dl.doubtnut.com/l/_AYycuKoBHJo6
https://dl.doubtnut.com/l/_5yv7ndimAjhg
https://dl.doubtnut.com/l/_vqWZ4v39d3Ei


A. 

B. 0

C. 1

D. none of these

Answer: d

Watch Video Solution

(x − 3)3 / 2 + C
π

3

73. The integral  is equal to

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

∫(1 + x − )ex+ dx
1

x

1
x

xex+x− 1
+ C

−xex+x− 1
+ C

(x + 1)ex+x− 1
+ C

(x − 1)ex+x− 1
+ C

https://dl.doubtnut.com/l/_vqWZ4v39d3Ei
https://dl.doubtnut.com/l/_qX1uDJ1te5tK


74.  is equal to

A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

∫ex
4
(x + x3 + 2x5)ex

2
dx

xex
2
ex

4
+ C

1

2

x2ex
4

+ C
1

2

ex
2
ex

4
+ C

1

2

x2ex
2
ex

4
+ C

1

2

75. 

A. 

B. 

C. 

∫[sin(101x) ⋅ sin99 x]dx

sin(100x)(sinx)100 + C
1

100

cos(100x)(sinx)100 + C
1

100

cos(100x)(cos x)100 + C
1

100

https://dl.doubtnut.com/l/_qX1uDJ1te5tK
https://dl.doubtnut.com/l/_pATQbY5G8p3i
https://dl.doubtnut.com/l/_NwfnGGFScVME


D. 

Answer: a

Watch Video Solution

sin(100x)(sinx)101 + C
1

100

76. Suppose  where C is arbitrary

constant of integration.then find value of 

A. sin x

B. cos x

C. tan x

D. cot x

Answer: c

Watch Video Solution

∫ dx = + c
1 − 7 cos2 x

sin7 x cos2 x

g(x)

sin7 x

g' (0) + g' ' ( )
π

4

https://dl.doubtnut.com/l/_NwfnGGFScVME
https://dl.doubtnut.com/l/_b3eDi0OOnEDN


77.  is equal to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫(x2 + x)(x− 8 + 2x− 9)
1 / 10

dx

(x2 + 2x)
11 / 10

+ C
5

11

(x + 1)11 / 10 + C
5

11

(x + 1)11 / 10 + C
6

7

(x2 + 2x)
11 / 10

+ C
11

5

78. If  where 

are rational number in its simplest form then  is equal to

A. 1

B. 2

C. 3

∫ ( )
1 / 3

 dx = λ( )
μ

+ c
2

(2 − x)2

2 − x

2 + x

2 + x

2 − x
λ and μ

(λ + )
1

μ

https://dl.doubtnut.com/l/_N2VkI2c6RHgi
https://dl.doubtnut.com/l/_ObGHrlQFPAmx


D. 6

Answer: c

Watch Video Solution

79. Let f(x) be a quadratic function such that  and 

 is a rational function, then the value of  is

A. 0

B. 2

C. 3

D. 5

Answer: c

Watch Video Solution

f(0) = 1

∫ dx
f(x)

x2(x + 1)3
f' (0)

https://dl.doubtnut.com/l/_ObGHrlQFPAmx
https://dl.doubtnut.com/l/_V3gDhNAxknSw


80.  is equal to

A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

∫ dx
x

√1 + x2 + √1 + x2
3

In(1 + √1 + x2) + C
1

2

+ C
−2

3(1 + √1 + x2)
3 / 2

2(1 + √1 + x2) + C

2√1 + √1 + x2 + C

81.  is equal to

A. 

B. 

C. 

D. 

∫ex dx
(x − 1)(x − logx)

x2

ex( ) + C
x − In x

x

ex( ) + C
x − In x + 1

x

ex( ) + C
x − In x

x

ex( ) + C
x − In x − 1

x

https://dl.doubtnut.com/l/_e6fAz4daDPNM
https://dl.doubtnut.com/l/_x44rSDAy3EbX


Answer: d

Watch Video Solution

82. If , then f(x) is

equal to

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

I = ∫x27(6x2 + 5x + 4)(x2 + x + 1)
6
dx = f(x) + C

(x6 + x5 + x4)
71

7

(6x5 + 5x4 + 4x3)
71

7

(6x6 + 5x5 + 4x4)
71

7

(x5 + x4 + x3)
71

7

83. Let f (x) be a quadratic function such that f (0) =1 and

 is a rational function then the valuef( − 1) = 4, if ∫ dx
f(x)

x2(1 + x)2

https://dl.doubtnut.com/l/_x44rSDAy3EbX
https://dl.doubtnut.com/l/_VJRNoD4qhJKy
https://dl.doubtnut.com/l/_vJiXGnmE79io


of f(10)

A. 584

B. 521

C. 520

D. 583

Answer: b

Watch Video Solution

84. Evaluate:

A. 

B. 

C. 

D. 

∫ [(sec− 1 √1 + x2 + cos − 1( )]dx(x > 0).
etan ^ (( − 1)x)

(1 + x2)

1 − x2

1 + x2

I = etan − 1 x(tan− 1 x) + C

I = etan − 1 x(sec− 1 √1 + x2)
2

+ C

I = etan − 1 x(tan− 1 x)
2

+ C
1

2

I = etan − 1 x(cosec− 1√1 + x2)
2

+ C

https://dl.doubtnut.com/l/_vJiXGnmE79io
https://dl.doubtnut.com/l/_8irRNqsMwbie


Answer: b

Watch Video Solution

85. 

A. 

B. 

C. 

D. none of these

Answer: b

Watch Video Solution

∫x2 dx =
(x sec2 x + tanx)

(x tanx + 1)2

+ 2  In|x sinx + cos x| + C
−x

(tanx + 1)

+ 2|sinx + cos x| + C
−x2

(x tanx + 1)

+ 2|sinx + cos x| + C
−x2

(x tanx + 1)

86.  is equal to

A. 

∫ dx
mxm+ 2n− 1 − nxn− 1

x2m+ 2n + 2xm+n + 1

+ C
−xm

xm+n + 1

https://dl.doubtnut.com/l/_8irRNqsMwbie
https://dl.doubtnut.com/l/_voTyXDmDpGgD
https://dl.doubtnut.com/l/_0PlYL0ojv5Iu


B. 

C. 

D. 

Answer: c

Watch Video Solution

+ C
−xn

xm+n + 1

+ C
−xn

xm+n + 1

+ C
xm

xm+n + 1

87.  is equal to

A. 

B. 

C. 

D. none of these

Answer: d

Watch Video Solution

∫ dx
1

tanx + cot x + secx + cosec x

(sinx + cos x + x) + C
1

2

(sinx − cos x − x) + C
1

2

(cos x − x sinx) + C
1

2

https://dl.doubtnut.com/l/_0PlYL0ojv5Iu
https://dl.doubtnut.com/l/_9Hr1aSbRyVvf
https://dl.doubtnut.com/l/_6sklV1hJXMIO


88.  is equal to

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

∫ dx
x2(1 − In x)

(In x)
4

− x4

 In( ) − In(In2
x − x2) + C

1

2
x

In x

1

4

In( ) − tan− 1( ) + C
1

4

Inx − x

In x + x

1

2

In x

x

In( ) + tan− 1( ) + C
1

4

In x + x

In x − x

1

2

In x

x

In( ) + tan− 1( ) + C
1

4

In x − x

In x + x

1

2

In x

x

89. The integral  is equal to (where C is a constant of

integration)

A. 

B. 

C. 

∫ dx
2x12 + 5x9

(x5 + x3 + 1)
3

+ C
−x5

(x5 + x3 + 1)
2

+ C
−x10

2(x5 + x3 + 1)2

+ C
x5

2(x5 + x3 + 1)2

https://dl.doubtnut.com/l/_6sklV1hJXMIO
https://dl.doubtnut.com/l/_aPb2qXQ8w384


D. 

Answer: N/A

Watch Video Solution

−x10

2(x5 + x3 + 1)2

90. If , where k is a

constant of integration , the  equals

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫ dx = (tanx)A + C(tanx)B + k
1

cos3 x√2 sin 2x

A + B + C

16

5

27
5

7
10

27
10

https://dl.doubtnut.com/l/_aPb2qXQ8w384
https://dl.doubtnut.com/l/_Xiy4Qkxs9IG4


91.  where, C is a constant of

integration, then the function f(x) is equal to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

If∫ = f(x)(1 + x6) + C
dx

x3(1 + x6)
2
3

1
3

−
1

2

−
1

6

−
6

x

−
x

2

92. The integral  is equal to (where C is the

constant of integration)

A. 

B. 

∫ dx
1

(1 + √x)√x − x2

−2√ + C
1 + √x

1 − √x

−2√ + C
1 − √x

1 + √x

https://dl.doubtnut.com/l/_z8Sw6KxMzZVT
https://dl.doubtnut.com/l/_xzgbtgf9fqsD


Section II - Assertion Reason Type

C. 

D. 

Answer: B

Watch Video Solution

−√ + C
1 + √x

1 + √x

2√ + C
1 + √x

1 − √x

1. Let F(x) be an indefinite integral of  


Statement I The function F(x) satisfies  for all real x. 


Because 

Statement II  for all real x.

A. Statement - 1 True , Statement -2 is True , Statement -2 is a correct

explanation for Statement -1.

B. Statement - 1 is True , Statement -2 is True , Statement -2 is a correct

explanation for Statement -1.

sin2
x

F (x + π) = F (x)

sin2(x + π) = sin2
x,

https://dl.doubtnut.com/l/_xzgbtgf9fqsD
https://dl.doubtnut.com/l/_GA4yby47vrBG


C. Statement - 1 True ,Statement - 2 is False.

D. Statement - 1 is False , Statement - 2 is True.

Watch Video Solution

2. Statement - 1 : The value of the integral

 

Statement -2: A primitive of the function f (x) is 

.

A. Statement - 1 True , Statement -2 is True , Statement -2 is a correct

explanation for Statement -1.

B. Statement - 1 is True , Statement -2 is True , Statement -2 is a correct

explanation for Statement -1.

C. Statement - 1 True ,Statement - 2 is False.

D. Statement - 1 is False , Statement - 2 is True.

∫ dx  is tan− 1( ) + C
e3x + ex

e4x + 1

1

√2

ex − e−x

√2

=
x2 + 1

x4 + 1

tan− 1( )
1

√2

x2 − 1

√2x

https://dl.doubtnut.com/l/_GA4yby47vrBG
https://dl.doubtnut.com/l/_WO7fhJaZSMFG


Watch Video Solution

3. Statement -1 : If  and 

, then 

 

where C is an arbitrary constant. 

Statement -2 : A primitive of f(x)  is 

.

A. Statement - 1 True , Statement -2 is True , Statement -2 is a correct

explanation for Statement -1.

B. Statement - 1 is True , Statement -2 is True , Statement -2 is a correct

explanation for Statement -1.

C. Statement - 1 True ,Statement - 2 is False.

D. Statement - 1 is False , Statement - 2 is True.

I1 = ∫ dx
ex

e4x + e2x + 1

I2 = ∫ dx
e−x

e− 4x + e− 2x + 1

I2 − I1 = log( ) + C
1
2

e2x − ex + 1

e2x + ex + 1

=
x2 − 1

x4 + x2 + 1

log( )
1

2
x2 − x + 1

x2 + x + 1

https://dl.doubtnut.com/l/_WO7fhJaZSMFG
https://dl.doubtnut.com/l/_XTq96i7Is1OI


Exercise

Watch Video Solution

1.  is equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫ dx
1

sin(x − a)cos(x − b)

log
∣
∣
∣

∣
∣
∣

+ C
1

sin(a − b)

sin(x − a)

cos(x − b)

log
∣
∣
∣

∣
∣
∣

+ C
1

cos(a − b)

sin(x − a)

cos(x − b)

log
∣
∣
∣

∣
∣
∣

+ C
1

sin(a + b)

sin(x − a)

cos(x − b)

log
∣
∣
∣

∣
∣
∣

+ C
1

cos(a + b)

sin(x − a)

cos(x − b)

2.  is equal to

A. 

∫ dx
x + sinx

1 + cos x

x  tan + C
x

2

https://dl.doubtnut.com/l/_XTq96i7Is1OI
https://dl.doubtnut.com/l/_uuR82gYfSwvl
https://dl.doubtnut.com/l/_y8caW1CvdgAE


B. 

C. 

D. 

Answer: a

Watch Video Solution

x  cot + C
x

2

log(1 + cos x) + C

log(1 + sinx) + C

3. The integral  is equal to

A. 

B. 

C. 

D. none of these

Answer: c

Watch Video Solution

∫ dx
1

(1 + x2)√1 − x2

tan− 1( )
1
2

√2x

√1 − x2

tan− 1( )
1

√2

√2x

√1 + x2

tan− 1( )
1

√2

√2x

√1 − x2

https://dl.doubtnut.com/l/_y8caW1CvdgAE
https://dl.doubtnut.com/l/_ANzaE56t98Fq


4. , then k =

A. log 2

B. 

C. 

D. 

Answer: d

Watch Video Solution

∫ dx = k sin− 1 2x + c
2x

√1 − 4x

log 2
1
2

1
2

1

log 2

5.  is equal to

A. 

B. 

C. 

D. none of these

∫etan − 1 x(1 + )dx
x

1 + x2

xetan − 1 x + C

x2etan − 1 x + C

etan − 1 x + C
1

x

https://dl.doubtnut.com/l/_14nEAIJe1vwS
https://dl.doubtnut.com/l/_ieLzcjTzZFn1


Answer: a

Watch Video Solution

6. If 
 
 (b) 

(c) 
(d0 

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

∫ dx = a log
∣
∣
∣

∣
∣
∣

+ b, thenaisequal
1

x√1 − x3

√1 − x3 − 1

√1 − x3 + 1

1

3

2

3

−
1

3
−

2

3

1/3

2/3

−1/3

−2/3

7.  is equal to∫ dx
xex

(1 + x)
2

https://dl.doubtnut.com/l/_ieLzcjTzZFn1
https://dl.doubtnut.com/l/_LqwF5EkYCqPC
https://dl.doubtnut.com/l/_dCTSCuYAA3cB


A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

+ C
ex

x + 1

ex(x + 1) + C

− + C
ex

(x + 1)2

+ C
ex

1 + x2

8.  is equal to

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

∫ex log a. exdx

(ae)x

(ae)
x

log(ae)

ex

1 + loga

https://dl.doubtnut.com/l/_dCTSCuYAA3cB
https://dl.doubtnut.com/l/_GgBQkrSePirF


9. if  then  is equal to

A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

∫g(x)dx = g(x), ∫g(x){f(x) + f' (x)}dx

g(x)f(x) − g(x)f' (x) + C

g(x)f' (x) + C

g(x)f(x) + C

g(x)f 2(x) + C

10. If  


. Then,

A. 

B. 

∫ dx
1

(sinx + 4)(sinx − 1)

= A + Btan− 1{f(x)} + C
1

tan − 1x

2

A = , B = , f(x) =
1

5

−2

5√15

4 tanx + 3

√15

A = − , B = , f(x) =
1

5

1

√15

4 tan(x/2) + 1

√15

https://dl.doubtnut.com/l/_GgBQkrSePirF
https://dl.doubtnut.com/l/_n29Pv90WsRTI
https://dl.doubtnut.com/l/_7WKrO34QdGMB


C. 

D. 

Answer: d

Watch Video Solution

A = , B = , f(x) =
2

5

−2

5
4 tanx + 1

5

A = , B = , f(x) =
2

5

−2

5√15

4 tanx/2 + 1

√15

11.  is equal to

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

∫cos3 xelog ( sin x ) dx

− + C
sin4 x

4

− + C
cos4 x

4

+ C
esin x

4

https://dl.doubtnut.com/l/_7WKrO34QdGMB
https://dl.doubtnut.com/l/_WxrGJUpkrLGr


12.  is equal to

A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

∫{1 + 2 tanx(tanx + secx)}1 / 2
dx

log secx(secx − tanx) + C

log cosec(secx + tanx) + C

log secx(secx + tanx + C)

log(secx + tanx) + C

13.  is equal to

A. 

B. 

C. 

D. 

∫ dx
1

((x − 1)
3
(x + 2)

5)
1
4

( )
1 / 4

+ C
4
3

x − 1

x + 2

( )
1 / 4

+ C
4
3

x + 2

x − 1

( )
1 / 4

+ C
1

3

x − 1

x + 2

( )
1 / 4

+ C
1

3

x + 2

x − 1

https://dl.doubtnut.com/l/_0xogGkaD5UbI
https://dl.doubtnut.com/l/_nhgcHlo5TX4q


Answer: a

Watch Video Solution

14. dx is equal to

A. 

B. 

C. 

D. none of these

Answer: b

Watch Video Solution

∫
√x2 + 1[log(x2 + 1) − 2 logx]

x4

(1 + )
1 / 2

[log(1 + ) + ] + C
1

3

1

x2

1

x2

2

3

(1 + )
3 / 2

[log(1 + ) − ] + C
1

3

1

x2

1

x2

2

3

(1 + )
3 / 2

[log(1 + ) + ] + C
2

3

1

x2

1

x2

2

3

15.  is equal to.

A. 

∫ dx
√tanx

sinx cos x

2√tanx + C

https://dl.doubtnut.com/l/_nhgcHlo5TX4q
https://dl.doubtnut.com/l/_jTRvc2vRW5gB
https://dl.doubtnut.com/l/_WY11euNLLui4


B. 

C. 

D. none of these

Answer: A

Watch Video Solution

2√cot x + C

+ C
√tanx

2

16.  is equal to

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

∫ esin x cos xdx
sinx − cos x

√1 − sin 2x

esin x + C

esin x− cos x + C

esin x+ cos x + C

ecos x− sin x + C

https://dl.doubtnut.com/l/_WY11euNLLui4
https://dl.doubtnut.com/l/_lwGze7tAYIl4
https://dl.doubtnut.com/l/_kEEEnKkHEQqR


17. Evaluate 

A. 

B. 

C. 

D. none of these

Answer: b

Watch Video Solution

∫e3 logx(x4 + 1)
− 1

dx

log(x4 + 1) + C

log(x4 + 1) + C
1

4

−log(x4 + 1)

18.  is equal to

A. 

B. 

C. 

D. none of these

∫555x

⋅ 55x ⋅ 5x dx

+ C
55x

(log 5)3

555x

(log 5)3 + C

+ C
555x

(log 5)3

https://dl.doubtnut.com/l/_kEEEnKkHEQqR
https://dl.doubtnut.com/l/_xvLrVAdZNAqo


Answer: C

Watch Video Solution

19. If  then

A. 

B. 

C. 

D. none of these

Answer: a

Watch Video Solution

∫ dx = tan( + a) + b
1

1 + sinx
x

2

a = − , b ∈ R
π

4

a = , b ∈ R
π

4

a = , b ∈ R
5π

4

20. The value of  is equal to

A. 

∫ [f(x)g' ' (x) − f' ' (x)g(x)]dx

f(x)

g' (x)

https://dl.doubtnut.com/l/_xvLrVAdZNAqo
https://dl.doubtnut.com/l/_SJb2w5F6nbQL
https://dl.doubtnut.com/l/_4PGYFguXbDw6


B. 

C. 

D. 

Answer: c

Watch Video Solution

f' (x)g(x) − f(x)g' (x)

f(x)g' (x) − f(x)g(x)

f(x)g' (x) + f' (x)g(x)

21. If  then

A. 

B. 

C. 

D. none of these

Answer: b

Watch Video Solution

∫(sin 2x − cos 2x)dx = sin(2x − a) + b
1

√2

a = , b ∈ R
5π

4

a = − , b ∈ R
5π

4

a = , b ∈ R
π

4

https://dl.doubtnut.com/l/_4PGYFguXbDw6
https://dl.doubtnut.com/l/_6a8JOc6pF0M8
https://dl.doubtnut.com/l/_x30qYqTiY9nB


22.  is equal to

A. 

B. 

C. 

D. none of these

Answer: c

Watch Video Solution

∫√ dx
cos x − cos3 x

1 − cos3 x

sin− 1(cos3 / 2x) + C
2

3

sin− 1(cos3 / 2x) + C
3

2

cos − 1(cos3 / 2 x) + C
2

3

23.  is equal to

A. 

B. 

C. 

D. 

∫ dx
cos 2x

(sinx + cos x)
2

+ C
−1

sinx + cos

log(sinx + cos x) + C

log(sinx − cos x) + C

log(sinx + cos x)
2

+ C

https://dl.doubtnut.com/l/_x30qYqTiY9nB
https://dl.doubtnut.com/l/_kAZpKXoED3Si


Answer: b

Watch Video Solution

24. If , then

A. 

B. 

C. 

D. none of these

Answer: c

Watch Video Solution

∫ dx = Ax + B ln(9e2x − 4) + C
4ex + 6e−x

9ex − 4e−x

A = − , B = , C = 0
3

2

35

36

A = , B = − , C ∈ R
35

36

3

2

A = − , B = , C ∈ R
3

2

35

36

25. If  then f(x) is equal

to

∫f(x)sinx cos xdx = log{f(x)} + C
1

2(b2 − a2)

https://dl.doubtnut.com/l/_kAZpKXoED3Si
https://dl.doubtnut.com/l/_oiPpnn0M7s5t
https://dl.doubtnut.com/l/_t28qloBkxFij


A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

1

a2 sin2 x + b2 cos2 x

1

a2 sin2 x − b2 cos2 x

1

a2 cos2 x + b2 sin2 x

1

a2 cos2 x − b2 sin2 x

26. 

A. 

B. 

C. 

D. none of these

Answer: b

W t h Vid S l ti

∫ dx  is equal to
x + 2

(x2 + 3x + 3)√x + 1

tan− 1( )
1

√3

x

√3(x + 1)

tan− 1( )
2

√3

x

(√x + 1)

tan− 1( )
2

√3

x

√x + 1

https://dl.doubtnut.com/l/_t28qloBkxFij
https://dl.doubtnut.com/l/_V2xGKLmFNiiP


Watch Video Solution

27. The value of  is

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

∫ dx
(x − x3)

1 / 3

x4

( − 1)
4 / 3

+ C
3

8

1

x2

− ( − 1)
4 / 3

+ C
3

8

1

x2

(1 − )
4 / 3

+ 1
1

8

1

x2

28.  is equal to

A. 

B. 

C. 

∫ dx
(x4 − x)

1 / 4

x5

(1 − )
5 / 4

+ C
4
15

1

x3

(1 − )
5 / 4

+ C
4
5

1

x3

(1 + )
5 / 4

+ C
4
15

1

x3

https://dl.doubtnut.com/l/_V2xGKLmFNiiP
https://dl.doubtnut.com/l/_T5DtiBp5yODf
https://dl.doubtnut.com/l/_QQgOKIrVaxc7


D. none of these

Answer: a

Watch Video Solution

29. Integrate the functions

A. , for all n except n =-1

B.  , for all n

C.  for all n except n =- 1

D.  , for all n

Answer: c

Watch Video Solution

f' (ax + b)[f(ax + b)]n

{f(ax + b)}n+ 1 + C
1

n + 1

{f(ax + b)}n+ 1 + C
1

n + 1

{f(ax + b)}n+ 1 + C
1

a(n + 1)

{f(ax + b)}n+ 1 + C
1

a(n + 1)

30. ∫ = ?
dx

√sin3 x cos x

https://dl.doubtnut.com/l/_QQgOKIrVaxc7
https://dl.doubtnut.com/l/_U8p9jUFR8Dtp
https://dl.doubtnut.com/l/_PxqZjjrrRp2P


A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

+ C
−2

√tanx

2√tanx + C

+ C
2

√tanx

−2√tanx + C

31. The value of the integral  is equal to

A. 

B. 

C. 

D. none of these

Answer: b

Watch Video Solution

∫ dx
1 + x2

1 + x4

tan− 1 x2 + C

tan− 1( )
1

√2

x2 − 1

√2x

log( ) + C
1

2√2

x2 + √2x + 1

x2 − √2x + 1

https://dl.doubtnut.com/l/_PxqZjjrrRp2P
https://dl.doubtnut.com/l/_ODkG8ZBNmBNW


Watch Video Solution

32. If  means  being repeated  times, then 

 is equal to :

A. 

B. 

C. 

D. none of these

Answer: a

Watch Video Solution

lr(x) log log log....... x r

∫[(xl(x)l2(x)l3(x).... lr(x)]
− 1

dx

lr+ 1(x) + C

+ C
lr+ 1(x)

r + 1

lr(x) + C

33.  dx is equal to

A. 

B. 

∫x− 2 / 3(1 + x1 / 2)
− 5 / 3

3(1 + x− 1 / 2)
− 1 / 3

+ C

3(1 + x− 1 / 2)
− 2 / 3

+ C

https://dl.doubtnut.com/l/_ODkG8ZBNmBNW
https://dl.doubtnut.com/l/_QdN7YOBcVqpu
https://dl.doubtnut.com/l/_9g0NhFDtTlaa


C. 

D. none of these

Answer: b

Watch Video Solution

3(1 + x1 / 2)
− 2 / 3

+ C

34.  dx is equal to:

A. 

B. 

C. 

D. none of these

Answer: b

Watch Video Solution

∫
x3 − 1

x3 + x

x − logx + log(x2 + 1) − tan− 1 x + C

x − logx + log(x2 + 1) − tan− 1 x + C
1

2

x + logx + log(x2 + 1) + tan− 1 x + C
1

2

https://dl.doubtnut.com/l/_9g0NhFDtTlaa
https://dl.doubtnut.com/l/_JjH4Q9YSOGh6


35.  . . . .

A. 

B. 

C. 

D. none of these

Answer: b

Watch Video Solution

∫ dx =
cos x + x sinx

x2 + x cos x

log(x(x + cos x)) + C

log( ) + C
x

x + cos x

log( )
x + cos x

x

36. 

A. 

B. 

C. 

D. none of these

∫ dx =
cos 2x

cos x

2 sinx + log(secx + tanx) + C

2 sinx − log(secx − tanx) + C

2 sinx − log(secx + tanx) + C

https://dl.doubtnut.com/l/_09GYJ1uZcAnD
https://dl.doubtnut.com/l/_OHoCj83UmRuw


Answer: C

Watch Video Solution

37.  is equal to

A. 

B. 

C. 

D. none of these

Answer: a

Watch Video Solution

∫
dx

x(xn + 1)

log( ) + C
1

n

xn

xn + 1

log( )
1

n

xn + 1
xn

log( ) + C
xn

xn + 1

38.  is equal to

A. 

∫ dx
a√x

√x

+ C
a√x

loga

https://dl.doubtnut.com/l/_OHoCj83UmRuw
https://dl.doubtnut.com/l/_UbdC4H4m85mM
https://dl.doubtnut.com/l/_pEeExbqsvNrk


B. 

C. 

D. none of these

Answer: B

Watch Video Solution

+ C
2a√x

loga

2a√x. loga + C

39. If , then

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫ = A tan− 1(B tanx/2) + C
dx

5 − 4 cos x

A = 1, B = 3

A = 2/3, B = 3

A = − 1, B = 1/3

A = 1/3, B = 2/3

https://dl.doubtnut.com/l/_pEeExbqsvNrk
https://dl.doubtnut.com/l/_VuNDGzkB72oa
https://dl.doubtnut.com/l/_K39TGGIuMqcw


40. If , then I equals

A. 

B. 

C. 

D. none of these

Answer: b

Watch Video Solution

I = ∫
dx

x4√a2 + x2

{ √a2 + x2 − √a2 + x2} + C
1

a4

1

x

1

3x3

{ √a2 + x2 − (a2 + x2)
3 / 2

} + C
1

a4

1

x

1

3x3

{ √a2 + x2 − (a2 + x2)
3 / 2
} + C

1

a2

1

x

1

2√x

41. The value of the integral  is

A. 

B. 

C. 

D. none of these

∫ dx
log(x + 1) − logx

x(x + 1)

[log(x + 1)]2 + (logx)2 + log(x + 1)logx + C
1

2

1

2

− [{log(x + 1)}2 + (logx)2] + log(x + 1). logx + C
1

2

[log(1 + 1/x)]2 + C
1

2

https://dl.doubtnut.com/l/_K39TGGIuMqcw
https://dl.doubtnut.com/l/_kuUGs5RKtmAn


Answer: b

Watch Video Solution

42. But for all arbitrary constants,  is

equal to

A. 

B. 

C. 

D. 

Answer: a

View Text Solution

∫√ dθ
1 + sin θ − sin2 θ − sin3 θ

2 sin θ − 1

√sin θ − cos 2θ + loge∣∣(4 sin θ + 1) + 2√2√sin θ − cos 2θ∣∣
1

2

3

4√2

√sin θ + cos 2θ + loge∣∣(4 sin θ − 1) + 2√2√sin θ + cos 2θ∣∣
1

2

3

4√2

√sin θ − cos 2θ + loge∣∣(4 sin θ + 1) − √sin θ − cos 2θ∣∣
1

2√2

3

4

√sin θ + cos 2θ + loge∣∣4 sin θ + 1 − √sin θ − cos 2θ∣∣
1

2

3

4√2

https://dl.doubtnut.com/l/_kuUGs5RKtmAn
https://dl.doubtnut.com/l/_zCbS9dfv9cb1
https://dl.doubtnut.com/l/_OHAflHe8C6f3


43. If . Then, the value of 

 is equal to:

A. 

B. 

C. 

D. none of these

Answer: b

Watch Video Solution

x2 ≠ nπ − 1, n ∈ N

∫x√ dx
2 sin(x2 + 1) − sin 2(x2 + 1)

2 sin(x2 + 1) + sin 2(x2 + 1)

log
∣
∣
∣

sec(x2 + 1)
∣
∣
∣

1
2

log
∣
∣
∣
sec( )

∣
∣
∣

x2 + 1
2

log∣∣sec(x2 + 1)∣∣
1
2

44. Given f(x)   dx is equal

to

A. 

B. 

=

∣
∣

∣

∣
∣

0 x2 − sinx cos x − 2

sinx − x2 0 1 − 2x

2 − cos x 2x − 1 0

∣
∣

∣

∣
∣

∫f(x)

− x2 sinx + sin 2x + C
x3

3

− x2 sinx − cos 2x + C
x3

3

https://dl.doubtnut.com/l/_OHAflHe8C6f3
https://dl.doubtnut.com/l/_sfEcVHAJGSlv


C. 

D. none of these

Answer: d

Watch Video Solution

− x2 cos x − cos 2x + C
x3

3

45.  is equal to

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

∫ dx
1

x1 / 2(1 + x2)5 / 4

+ C
−2√x

4√1 + x2

+ C
2√x

4√1 + x2

+ C
−√x

4√1 + x2

+ C
√x

4√1 + x2

https://dl.doubtnut.com/l/_sfEcVHAJGSlv
https://dl.doubtnut.com/l/_ZqbD37oIAn3Y


46.  is equal to

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

∫ dx
x2

(a + bx2)
5 / 2

− ( )
3 / 2

+ C
1

3a

x2

a + bx2

( )
3 / 2

+ C
1

3a

x2

a + bx2

( )
2 / 3

+ C
1

2a
x2

a + bx2

47.  is equal to

A. 

B. 

C. 

D. none of these

∫ dx
sin3

x

(1 + cos2 x)√1 + cos2 x + cos2 x + cos4x

sec− 1(secx + cos x) + C

sec− 1(secx − cos x) + C

sec− 1(secx − tanx) + C

https://dl.doubtnut.com/l/_T0itMNAROOim
https://dl.doubtnut.com/l/_8HodnziH8LHJ


Answer: a

View Text Solution

48.  is equal to

A. 

B. 

C. 

D. none of these

Answer: b

View Text Solution

∫ dx
1

√sin3 x sin(x + α)

2cosec α√cosα + sinα tanx + C

−2cosec α√cosα + sinα cot x + C

cosec α√cosα + sinα cot x + C

49. The antiderivative of  with respect to x is

A. 

3x

√1 − 9x

(log3 e)sin− 1(3x) + C

https://dl.doubtnut.com/l/_8HodnziH8LHJ
https://dl.doubtnut.com/l/_eDjuoPlL3Cl0
https://dl.doubtnut.com/l/_Xbdk3Rc5PfTl


B. 

C. 

D. none of these

Answer: a

Watch Video Solution

sin− 1(3x) + C

(log3 e)cos − 1(3x)

50. Integration of  with respect to  is equal to

A. 

B. 

C. 

D. none of these

Answer: c

Watch Video Solution

1

√x2 = 9
(x2 + 1)

√x2 + 9 + C

− + C
1

√x2 + 9

2√x2 + 9 + C

https://dl.doubtnut.com/l/_Xbdk3Rc5PfTl
https://dl.doubtnut.com/l/_sbye4a48Enmi
https://dl.doubtnut.com/l/_8C0uaQOej0BL


51. If

 ,

then

A. 

B. 

C. 

D. none of these

Answer: a

View Text Solution

∫ dθ = cosec_ 1(f(θ)) + C
sin θ − cos θ

(sin θ + cos θ)√sin θ cos θ + sin2 θ cos2 θ

f(θ) = sin 2θ + 1

f(θ) = 1 − sin 2θ

f(θ) = sin 2θ − 1

52. The primitive of the function f (x) , when

 is given by

A. 

B. 

= (2x + 1)|cos x|

< x < π
π

2

cos x + x sinx

−cos x − x sinx

https://dl.doubtnut.com/l/_8C0uaQOej0BL
https://dl.doubtnut.com/l/_RkGRTTiQmj6s


C. 

D. none of these

Answer: b

Watch Video Solution

x sinx − cos x

53. The primitive of the function , where

 is

A. 

B. 

C. 

D. none of these

Answer: D

Watch Video Solution

f(x) = (2x + 1)|sinx|

π < x < 2π

−(2x + 1)cos x + 2 sinx + C

(2x + 1)cos x − 2 sinx + C

(x2 + x)cos x + C

https://dl.doubtnut.com/l/_RkGRTTiQmj6s
https://dl.doubtnut.com/l/_TWkwS43Mx7P5
https://dl.doubtnut.com/l/_Xp2bar7AMyJE


54. Let  equal

A. 

B. 

C. 

D. none of these

Answer: b

View Text Solution

∫√ dx
5 − x

2 + x

√x + 2√5 − x + 3 sin− 1 √ + C
x + 2

3

√x + 2√5 − x + 7 sin− 1 √ + C
x + 2

7

√x + 2√5 − x + 5 sin− 1 √ + C
x + 2

5

55. The value of the integral  , is

A. 

B. 

C. 

D. none of these

∫ dx
xsinx2esecx2

cos2 x2

esecx2
+ C

1

2

esin x2

+ C
1

2

sinx2ecos2 x2
+ C

1

2

https://dl.doubtnut.com/l/_Xp2bar7AMyJE
https://dl.doubtnut.com/l/_NOzsSWWozHg7


Answer: a

Watch Video Solution

56.  is equal to

A. 

B. 

C. 

D. none of these

Answer: a

View Text Solution

∫ dx
x2 − 1

x√(x2 + αx + 1)(x2 + βx + 1)

log{ } + C
√x2 + αx + 1 + √x2 + βx + 1

√x

2 log{ } + C
√x2 + αx + 1 − √x2 + βx + 1

√x

log{√x2 + αx + 1 − √x2 + βx + 1} + C

57. Evaluate:


A. 

∫ dx
e2x − 2ex

e2x + 1

log(e2x + 1) − tan− 1(ex) + C

https://dl.doubtnut.com/l/_NOzsSWWozHg7
https://dl.doubtnut.com/l/_AVSjpQ5hMxyO
https://dl.doubtnut.com/l/_vRp0iLEhTshc


B. 

C. 

D. none of these

Answer: C

Watch Video Solution

log(e2x + 1) − tan− 1(ex) + C
1

2

log(e2x + 1) − 2 tan− 1(ex) + C
1

2

58.  is equal to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫ dx
1

cos x − sinx

log
∣
∣
∣
tan( + )

∣
∣
∣

+ C
1

√2

x

2

3π

8

log∣
∣cot ∣

∣ + C
1

√2

x

2

log
∣
∣
∣
tan( − )

∣
∣
∣

+ C
1

√2

x

2

3π

8

log∣
∣tan( − )∣

∣ + C
1

√2

x

2

π

8

https://dl.doubtnut.com/l/_vRp0iLEhTshc
https://dl.doubtnut.com/l/_uKlgqVZO9ldV
https://dl.doubtnut.com/l/_rwC0ZJPRuxP4


59.  is equal to

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

∫ dx
ax / 2

√a− 2 − ax

sin− 1(ax)
1

loga

tan− 1(ax)
1

loga

2√a−x − ax

log(ax − 1)

60. 

A. 

B. 

C. 

D. 

∫ dx =
f' (x)

f(x)log{f(x)}

+ C
f(x)

log{f(x)}

f(x)logf(x) + C

log{logf(x)} + C

+ C
1

log{logf(x)}

https://dl.doubtnut.com/l/_rwC0ZJPRuxP4
https://dl.doubtnut.com/l/_1QjzQamFMeXb


Answer: C

Watch Video Solution

61. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫ dx
ex

(1 + ex)(2 + ex)

log( ) + C
ex + 1
ex + 2

log( ) + C
ex + 2
ex + 1

+ C
ex + 1
ex + 2

+ C
ex + 2
ex + 1

62. 
 
 (b) 


(d) 

∫ dxisequa < o
1 + x + √x + x2

√x + √1 + x
√1 + xC

1

2
(1 + x) + C

2

3

x

2

√1 + x + c (1 + x) + C
3

2

3
2

https://dl.doubtnut.com/l/_1QjzQamFMeXb
https://dl.doubtnut.com/l/_6lRPUV5XV2wy
https://dl.doubtnut.com/l/_BEoHJPRuB3Ub


Chapter Test

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

√1 + x + C
1

2

(1 + x)3 / 2 + C
2

3

√1 + x + C

2(1 + x)3 / 2 + C

1. The integral  is equal to

A. 

B. 

C. 

D. 

∫ . dx
2x − 3

(x2 + x + 1)2

− − tan− 1( ) + C
8x + 7

x2 + x + 1

16

3√3

2x + 1

3

− − tan− 1(4x + 3) + C
1

x2 + x + 1

4

3

− + C
1

2(x2 + x + 1)

(2x + 1)2

(x2 + x + 1)2

+ tan− 1(2x + 1) + C
1

4(x2 + x + 1)

2

3

https://dl.doubtnut.com/l/_BEoHJPRuB3Ub
https://dl.doubtnut.com/l/_m2P8EIcU05mp


Answer: a

Watch Video Solution

2. If  then

A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

∫ dx = √1 + x2f(x) + A ln∣
∣x + √x2 + 1∣

∣ + c
x tan− 1 x

√1 + x2

f(x) = tan− 1 x, A = − 1

f(x) = tan− 1 x, A = 1

f(x) = 2 tan− 1 x, A = − 1

f(x) = 2 tan− 1 x, A = 1

3. 
 then



(b) 
 
(d) none of these

If∫x log(1 + )dx = f(x)log(x + 1) + g(x)x2 + Ax + C,
1

x

f(x) = x21

2
g(x) = logx A = 1

https://dl.doubtnut.com/l/_m2P8EIcU05mp
https://dl.doubtnut.com/l/_qJ4HBfiquDLA
https://dl.doubtnut.com/l/_kvvxmsDg167Z


A. 

B. 

C. 

D. none of these

Answer: d

Watch Video Solution

f(x) = x21

2

g(x) = logx

A = 1

4. If , then

A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

∫ dx = f(x)√1 + ex − 2 logg(x) + c
xex

√1 + ex

f(x) = x − 1

g(x) =
√1 + ex − 1

√1 + ex − 1

g(x) =
√1 + ex + 1

√1 + ex − 1

f(x) = 2(x + 2)

https://dl.doubtnut.com/l/_kvvxmsDg167Z
https://dl.doubtnut.com/l/_1iXdKbMZaFsk


5. The value of the integral  is (A) 

 (B)  (C) 


 (D) 

A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

∫ dx
cos3 x + cos5 x

sin2 x + sin4 x

sinx − 6 tan− 1(sinx) + C sinx − 2(sinx) − 1 + C

sinx − 2(sinx) − 1 − 6 tan− 1(sinx) + C

sinx − 2(sinx) − 1 + 5 tan− 1(sinx) + C

sinx − 6 tan− 1(sinx) + C

sinx − 2(sinx) − 1 + C

sinx − 2(sinx) − 16 tan− 1(sinx) + C

sinx − 2(sinx) − 1 + 5 tan− 1(sinx) + C

6. If  , then

A. 

∫ dx = A tan− 1 x + B  tan− 1 + C
1

(x2 + 1)(x2 + 4)

x

2

A = 1/3, B = − 2/3

https://dl.doubtnut.com/l/_1iXdKbMZaFsk
https://dl.doubtnut.com/l/_jLJoL2Mof26M
https://dl.doubtnut.com/l/_dZeWwDe4x3mt


B. 

C. 

D. 

Answer: A

Watch Video Solution

A = − 1/3, B = 2/3

A = − 1/3, B = 1/3

A = 1/3, B = − 1/6

7. If , then

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

∫ log(√1 − x + √1 + x)dx = xf(x) + Ax + B sin− 1 x + C

f(x) = log(√1 − x + √1 + x)

A = 1/3

B = 2/3

B = − 1/2

https://dl.doubtnut.com/l/_dZeWwDe4x3mt
https://dl.doubtnut.com/l/_WstR6UvRLayK
https://dl.doubtnut.com/l/_tcwhsqbovlrw


8. If  is equal to

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

∫ dx
x5

√1 + x3

(1 + x3)
5 / 2

+ (1 + x3)
3 / 2

+ C
2

9

2

3

(1 + x3)
3 / 2

− (1 + x3)
1 / 2

+ C
2

9

2

3

log∣
∣√x + √1 + x3∣

∣ + C

x2 log(1 + x3) + C

9. The value of  is

A. 

B. 

C. 

D. none of these

∫esecx ⋅ sec3 x(sin2 x + cos x + sinx + sinx cos x)dx

∫esecx. (sec2 x + secx tanx)

esecx + C

esecx(secx + tanx) + C

https://dl.doubtnut.com/l/_tcwhsqbovlrw
https://dl.doubtnut.com/l/_6YnKlht3tlWZ


Answer: c

Watch Video Solution

10.  , then (a,b) is

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

∫ dx = a log( ) + btan− 12x2 + 3

(x2 − 1)(x2 + 4)

x + 1

x − 1
x

2

( − 1/2, 1/2)

(1/2, 1/2)

( − 1, 1)

(1, − 1)

11. Let  for  and  Then 

 equals

f(x) =
x

(1 + xn)
1
n

n ≥ 2 g(x) = (f(ofo...of)(x)

∫xn− 2g(x)dx

https://dl.doubtnut.com/l/_6YnKlht3tlWZ
https://dl.doubtnut.com/l/_312R8LcMmJ6g
https://dl.doubtnut.com/l/_3wkW24RcBjTA


A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

(1 + nxn)1 − + k
1

n(n − 1)

1
n

(1 + nxn)1 − + k
1

n − 1

1
n

(1 + nxn)1 + + k
1

n(n − 1)

1
n

(1 + nxn)1 + + k
1

n − 1

1
n

12. The value of  is equal to

A. 

B. 

C. 

D. 

Answer: a

∫
(ax2 − b)dx

x√c2x2 − (ax2 + b)
2

sin− 1( ) + k
ax + b

x

c

sin− 1
⎛

⎝

⎞

⎠
+ k

ax2 + b

x2

c

cos − 1( ) + k
ax + b/x

c

cos − 1
⎛

⎝

⎞

⎠
+ k

ax2 + b

x2

c

https://dl.doubtnut.com/l/_3wkW24RcBjTA
https://dl.doubtnut.com/l/_LgN719rWXN2T


Watch Video Solution

13. Evaluate: 

A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

∫ex dx
1 + nxn− 1 − x2n

(1 − xn)√1 − x2n

+ C
ex√1 − xn

1 − xn

+ C
ex√1 + x2n

1 − x2n

+ C
ex√1 + x2n

1 − x2n

+ C
ex√1 − x2n

1 − xn

14. 

A. In 

B. In 

∫ dx
x cos x + 1

√2x3esin x + x2

∣
∣
∣

∣
∣
∣

+ C
√2xesin x + 1 − 1

√2xesin x + 1 + 1
∣
∣
∣

∣
∣
∣

+ C
√2xesin x − 1 − 1

√2xesin x − 1 + 1

https://dl.doubtnut.com/l/_LgN719rWXN2T
https://dl.doubtnut.com/l/_GcrkgxP2yf2d
https://dl.doubtnut.com/l/_cBKRQ5mElf03


C. In 

D. In 

Answer: A

Watch Video Solution

∣
∣
∣

∣
∣
∣

+ C
√2xesin x − 1 + 1

√2xesin x − 1 − 1
∣
∣
∣

∣
∣
∣

+ C
√2xesin x + 1 + 1

√2xesin x − 1 + 1

15.  is equal to

A. 

B. 

C. 

D. none of these

Answer: b

Watch Video Solution

∫ dx
x3

(1 + x2)
1 / 3

(1 + x2)
2 / 3

(2x2 − 3) + C
20

3

(1 + x2)
2 / 3

(2x2 − 3) + C
3

20

(1 + x2)
2 / 3

(2x2 + 3) + C
3

20

https://dl.doubtnut.com/l/_cBKRQ5mElf03
https://dl.doubtnut.com/l/_4oUB3jxx49ja


16.  then find out 

A. 

B. 

C. 

D. none of these

Answer: c

Watch Video Solution

∫ dx = Ax + B log(sin(x − α)) + C
sinx

sin(x − α)
A&B

A = sinα, B = cosα

A = cosα, B = − sinα

A = cosα, B = sinα

17. What is  equal to ?

A. 

B. 

C. 

D. 

∫ dx
x4 − 1

x2√x4 + x2 + 1

+ C
x

√x4 + x2 + 1

+ C
√x4 + x2 + 1

x

+ C
2x

√x4 + x2 + 1

+ C
√x4 + x2 + 1

2x

https://dl.doubtnut.com/l/_Wj9ssJqFzYKH
https://dl.doubtnut.com/l/_VESTBtGooaAZ


Answer: b

Watch Video Solution

18.  is equal to

A. 

B. 

C. 

D. none of these

Answer: b

Watch Video Solution

∫ dx
x − 1

(x + 1)√x3 + x2 + x

tan− 1 √ + C
x2 + x + 1

x

2 tan− 1 √ + C
x2 + x + 1

x

3 tan− 1 √ + C
x2 + x + 1

x

19.  is equal to

A. 

∫ dx
1 + x2

x√1 + x4

−log
∣
∣

∣
∣
x − + √(x − )

2

− 2
∣
∣

∣
∣

+ C
1

x

1

x

https://dl.doubtnut.com/l/_VESTBtGooaAZ
https://dl.doubtnut.com/l/_waTbLIe3u7eS
https://dl.doubtnut.com/l/_WYfqu8epI17f


B. 

C. 

D. none of these

Answer: b

Watch Video Solution

−log
∣
∣

∣
∣
x − + √(x − )

2

+ 2
∣
∣

∣
∣

+ C
1

x

1

x

−log
∣
∣

∣
∣
x − + √(x − )

2

− 2
∣
∣

∣
∣

+ C
1

x

1

x

20.  is equal to

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

∫ dx
1 + x4

(1 − x4)3 / 2

+ C
x

√1 − x4

+ C
−x

√1 − x4

+ C
2x

√1 − x4

+ C
−2x

√1 − x4

https://dl.doubtnut.com/l/_WYfqu8epI17f
https://dl.doubtnut.com/l/_rdJVXhYiDH2S


21. If  , then

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

∫ dx = + + log
∣
∣
∣

∣
∣
∣

+ C
1

x3 + x4

A

x2

B

x

x

x + 1

A = , B = 1
1

2

A = 1, B = −
1

2

A = − , B = 1
1

2

22. Let  and f(0)=0 then f(1)=

A. 

B. 

C. 

D. none of these

f(x) = ∫ dx
1

(1 + x2)3 / 2

−
1

√2

1

√2

√2

https://dl.doubtnut.com/l/_0NxDPorpCd38
https://dl.doubtnut.com/l/_Ll78Pk5XEgU2


Answer: b

Watch Video Solution

23.  is equal to

A. 

B. 

C. 

D. none of these

Answer: a

Watch Video Solution

∫(x) (7√1 + 3√x4)dx
1
3

{1 +
3√x4}

8 / 7
+ C

21

32

{1 +
3√x4}

8 / 7
+ C

32

21

{1 +
3√x4}

8 / 7
+ C

7
32

24.  is equal to

A. 

∫ dx
1

(a2 + x2)3 / 2

+ C
x

a2√a2 + x2

https://dl.doubtnut.com/l/_Ll78Pk5XEgU2
https://dl.doubtnut.com/l/_ojNWpcArU0Rj
https://dl.doubtnut.com/l/_Y7ZrqITpyNQX


B. 

C. 

D. none of these

Answer: a

Watch Video Solution

+ C
x

(a2 + x2)3 / 3

+ C
1

a2√a2 + x2

25.  is equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫ dx
1

x(x4 − 1)

log
∣
∣
∣

∣
∣
∣

+ C
1

4
x4

x4 − 1

log
∣
∣
∣

∣
∣
∣

+ C
1

4
x4 − 1

x4

log
∣
∣
∣

∣
∣
∣

+ C
x4 − 1

x4

log
∣
∣
∣

∣
∣
∣

+ C
x4

x4 − 1

https://dl.doubtnut.com/l/_Y7ZrqITpyNQX
https://dl.doubtnut.com/l/_PPKpZFDkoggK
https://dl.doubtnut.com/l/_e0AFu4Pp8Nnx


26.  is equal to

A. 

B. 

C. 

D. none of these

Answer: a

Watch Video Solution

∫ dx
1 + x

1 + 3√x

x5 / 3 + x − x4 / 3 + x + C
3

5

3

4

x5 / 3 − x4 / 3 + C
3

5

3

4

x5 / 3 − x4 / 3 + C
3

5

3

4

27.  is equal to

A. 

B. 

C. 

D. none of these

∫ dx
1

(x + 1)
2√x2 + 2x + 2

+ C
√x2 + 2x + 2

x + 1

+ C
√x2 + 2x + 2

(x + 1)2

+ C
−√x2 + 2x + 2

(x + 1)2

https://dl.doubtnut.com/l/_e0AFu4Pp8Nnx
https://dl.doubtnut.com/l/_x2GL78UTyQXK


Answer: c

Watch Video Solution

28.  is equal to

A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

∫ dx
x2 − 2

x3√x2 − 1

+ C
x2

√x2 − 1

− + C
x2

√x2 − 1

+ C
√x2 − 1

x2

− + C
√x2 − 1

x2

29.  is equal to

A. 

∫ dx
√x

1 + 4√x3

[1 + x3 / 4 + loge(1 + x3 / 4)] + C
4
3

https://dl.doubtnut.com/l/_x2GL78UTyQXK
https://dl.doubtnut.com/l/_nJdEA476tmV6
https://dl.doubtnut.com/l/_mbanv0Slh5tQ


B. 

C. 

D. none of these

Answer: B

Watch Video Solution

[1 + x3 / 4 − loge(1 + x3 / 4)] + C
4
3

[1 + x3 / 4 + loge(1 + x3 / 4)] + C
4
3

30. 

A. 

B. 

C. 

D. none of these

Answer: a

Watch Video Solution

∫ dx
x + 3√x2 + 6√x

x(1 + 3√x)

x2 / 3 + 6 tan− 1 x1 / 6 + C
3
2

x2 / 3 − 6 tan− 1 x1 / 6 + C
3
2

− x2 / 3 − 6 tan− 1 x1 / 6 + C
3
2

https://dl.doubtnut.com/l/_mbanv0Slh5tQ
https://dl.doubtnut.com/l/_10GOSqVeCx3z



